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1. Sodium bicarbonate has :

A. lonic bond

B. Covalent bond

C. Hydrogen bond

D. All of these


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XmGvuHHewxI8

Answer: D

° Watch Video Solution

2. Which of the following metal on burning in moist air does

not give smell of ammonia?

A Mg

B. Ca

C.K

D. Li

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XmGvuHHewxI8
https://dl.doubtnut.com/l/_sKVvZK22UGnG
https://dl.doubtnut.com/l/_0oKTC7YmpUuI

3. For the alkali metals, which of the following increase with

increasing atomic number?

A. First ionization energy

B. Electronegativity

C. Hydration energy of the univalent ion

D. Atomic radius

Answer: D

° Watch Video Solution

4. Among the carbonates of alkali metals which one has

highest thermal stability ?

A. 032003


https://dl.doubtnut.com/l/_0oKTC7YmpUuI
https://dl.doubtnut.com/l/_PLU6CQTdOPRm

B. Rb,COs

C. K,CO;4

D. NCLQCO?,

Answer: A

o Watch Video Solution

5. Which of the following is most soluble in water?

A.CsClOy

B. NaClO4

C. KCIlO,

D. LiClOy


https://dl.doubtnut.com/l/_PLU6CQTdOPRm
https://dl.doubtnut.com/l/_v59XLEWfiwAU

Answer: D

° Watch Video Solution

6. Why does the solution of sodium in liquid ammonia

possess strong reducing nature?

A. The presence of ions Na ™
B. The presence of ammoniated electron
C. The formation of NaNH,

D. The formation of sodium hybride

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_v59XLEWfiwAU
https://dl.doubtnut.com/l/_QuO3KI8CNwlA
https://dl.doubtnut.com/l/_4xJErpvJ1Fa7

7.The order of basicity of hydroxides of alkali metals is

A.Li > Na > Rb > Cs

B.Na > Li > Rb > Cs

C.Cs > Rb > Na > Li

D.Rb > Cs > Na > Lz

Answer: C

° Watch Video Solution

8. The metallic lustre exhibited by sodium is explained by

A. diffusion of Na ™ ions

B. oscillation of loose electrons


https://dl.doubtnut.com/l/_4xJErpvJ1Fa7
https://dl.doubtnut.com/l/_mCEhXof5jiLt

C. excitation of free protons

D. existence of body-centered cubic lattice

Answer: B

o Watch Video Solution

9. Soda lime is a mixture of

A. Na + CaO + H50
B.CaO + NaOH /(aq)
C. NaOH + CaCO3

D. NaHCO;3 + CaO

Answer: B

.


https://dl.doubtnut.com/l/_mCEhXof5jiLt
https://dl.doubtnut.com/l/_F8D45cwO0aYk

l @ yvatcn viaeo >oilution

10. The compound called microscomic salt is:

A. N(ZQHPO4 . 2H20

B. Na(NH,)HPO, - 4H,0

C. NalNH4PO4 : 2H20

D. (NH,),HPO, - 2H,0

Answer: B

o Watch Video Solution

11. Potassium when heated strongly in oxygen, if forms :

A. K,0


https://dl.doubtnut.com/l/_F8D45cwO0aYk
https://dl.doubtnut.com/l/_NczbQNgcOiIT
https://dl.doubtnut.com/l/_0TjVVYHV4pxH

B. KO,

C. K202

D. KOs

Answer: B

o Watch Video Solution

12. When a concentrated solution of ammonia is saturated

with sodium chloride in the presence of pieces of dry ice, a

water cloud forms . Thid is due to the,

A. precipitation of sodium carbonate from the reaction

mixture


https://dl.doubtnut.com/l/_0TjVVYHV4pxH
https://dl.doubtnut.com/l/_IQBDCtCsojtz

B. precipitation of sodium hydrogen carbonate from the

reaction mixture

C. precipitation of ammonium hydrogen carbonate from

the reaction mixture

D. precipitation of ammonium carbonate

Answer: B

o Watch Video Solution

13. On heating sodium metal in a current of dry ammonia, the

compound formed is

A. sodium imide

B. sodium nitride


https://dl.doubtnut.com/l/_IQBDCtCsojtz
https://dl.doubtnut.com/l/_9W7eUnJG153G

C.sodium amide

D. sodium azide

Answer: C

° Watch Video Solution

14. Which of the following compounds is not obtained when
the products obtained from the electrolysis of brine are
mixed?

A. NaCl

B. Hy

C. NaOCl

D. Cl,


https://dl.doubtnut.com/l/_9W7eUnJG153G
https://dl.doubtnut.com/l/_4hSOzqoueIEL

Answer: D

° Watch Video Solution

15. When dry ammonia gas is passed over heated sodium (out

of contact of air) the product forms is

A. sodium hydride

B. sodium nitride

C.sodamide

D. sodium cyanamide

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4hSOzqoueIEL
https://dl.doubtnut.com/l/_lW3Btnk9VPYA
https://dl.doubtnut.com/l/_lVSMkyJz4T8d

16. Which of the folowing compounds liberates oxygen on

heating?

A. Li,COs

B. LiOH

C. LiNO;

D. NaOH

Answer: C

o Watch Video Solution

17. Sodium peroxide is used to purify the air in submarines

and confined spaces because:

A. It removes CO, and produces O,


https://dl.doubtnut.com/l/_lVSMkyJz4T8d
https://dl.doubtnut.com/l/_y3heWISHnyHT

B. it decomposes to form Na,O

C. it reacts with oxygen to form sodium superoxide

D. None of these

Answer: A

o Watch Video Solution

18. Which of the following salt is known as washing sode?

A NCLQCOg

B. Nay,COs - HyO

C. Na2003 : 10H20

D. Na2003 : 5H20


https://dl.doubtnut.com/l/_y3heWISHnyHT
https://dl.doubtnut.com/l/_g2BDFicUFIri

Answer: C

° Watch Video Solution

19. Which of the following compounds is formed when

sodium burns in excess supply of air?

A. Sodium suboxide

B. Sodium oxide

C. Sodium peroxide

D. Sodium superoxide

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_g2BDFicUFIri
https://dl.doubtnut.com/l/_Neqkj9evmMkC
https://dl.doubtnut.com/l/_bwfSqUE86rjC

20. Glauber's salt is :

A. Na2SO4

B. Nay SO, - HyO

C. Na2$’04 . 5H20

D. Na2SO4 . 10H20

Answer: D

° Watch Video Solution

21. Sodium hydroxide is produced on a large scale

A. by the hydrolysis of Na;CO5

B. by the electrolysis of an aqueous solution of NaCl


https://dl.doubtnut.com/l/_bwfSqUE86rjC
https://dl.doubtnut.com/l/_epOrhm0ZRz0D

C. by adding water to sodium oxide

D. by reacting sodium with water

Answer: B

o Watch Video Solution

22. Which of the following metal on used in flash bulbs?

A. Be

B. Mg

C.Ca

D. Ba

Answer: B

.


https://dl.doubtnut.com/l/_epOrhm0ZRz0D
https://dl.doubtnut.com/l/_WMI9zhnG2hSa

| ¥ vvatch video Solution ]

23. The pair of compounds which cannot exist together in

aqueous solution is,
(|)NG,H2PO4 and NCLHCOg (”)NCL2003 and N(IHCO?,

(IMNaOH and NaHsPO,4 (V)Y NaHCO3 and NaOH

A LI
B. I, IV
C.LIV
D. 11, I
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_WMI9zhnG2hSa
https://dl.doubtnut.com/l/_p5VGBA0fbjyV
https://dl.doubtnut.com/l/_zaKkDhLgVv69

24.0On reacting with NaOH, which gives inflammable gas?

A S

B.Zn

C. NH,ClI

D. I,

Answer: B

o Watch Video Solution

25. In the

LiH + AlH; — LiAlH,, AlH; and LiH act as:

A. Lewis acid and Lewis base

B. Lewis base and Lewis acid

reaction


https://dl.doubtnut.com/l/_zaKkDhLgVv69
https://dl.doubtnut.com/l/_98FScwdTtB1i

C. Bronsted base and Bronsted acid

D. None of these

Answer: A

o Watch Video Solution

26. Lithium is strongest reducing agent among alkali metals

due to which of the following factor ?

A. lonisation energy

B. Hydration energy

C. Heat of sublimation

D. None of these

Answer: B


https://dl.doubtnut.com/l/_98FScwdTtB1i
https://dl.doubtnut.com/l/_0xpTLhpoRmND

o Watch Video Solution

27. Which set of compounds in the following pair of ionic

compounds has the higher lattice energy ?

(i)

KCl or MgO  (it)LiF or LiBr  (iii)Mg3N, or NaCl
A. KCl, LiBr, MgsN,
B. MgO, LiBr, Mgs;N,
C. MgO, LiF', NaCl

D. MgO, L’I,F, M93N2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0xpTLhpoRmND
https://dl.doubtnut.com/l/_6qvBGPbwQZua
https://dl.doubtnut.com/l/_hR5X8Af6uDZa

28. Sodium bicarbonate has :

A. lonic bond

B. Covalent bond

C. Hydrogen bond

D. All of these

Answer: AB

O Watch Video Solution

29. Compounds having lowest melting point:

A. LiCl

B.CsCl


https://dl.doubtnut.com/l/_hR5X8Af6uDZa
https://dl.doubtnut.com/l/_FHJJXhZumVvD

C. RbCl

D. KCl

Answer: A

o Watch Video Solution

30. Incorrect statement is :

A.NaHCO3 and KHCO3 have same crystal structure
B. On heating LiNO3 decomposes into LioOanNO,
C. Among alkali metals, Li metal impart red colour flame

D. Li5,SO,4 does not form alum

Answer: A



https://dl.doubtnut.com/l/_FHJJXhZumVvD
https://dl.doubtnut.com/l/_di7dnIhqSJdW

| ¥ vvatch video sSolution ]

31. The solubility of metal halides depends on their nature,
lattice enthalpy and hydration enthalpy of the individual ions.
Amongst fluorides of alkali metals, the lowest solubilitty of
LiF in water is due to metals, the lowest solubility of LiF in
water is due to

A.lonic nature of lithium flouride

B. High lattice enthalpy

C. High hydration ethalpy of lithium ion

D. Low ionisation enthalpy of lithium atom

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_di7dnIhqSJdW
https://dl.doubtnut.com/l/_Kxv3gVnFcsX7

32. The reducing power of a metal depends on various

factors. Suggest the factor which makes Li, the strongest

reducing agent in aqueous solution.

A. Sublimation enthalpy

B. lonisation enthalpy

C. Hydration enthalpy

D. Electron-gain enthalpy

Answer: C

° Watch Video Solution

33. M g,C} reacts with water forming propyne. C’;_ has


https://dl.doubtnut.com/l/_8D02YmBnBz6S
https://dl.doubtnut.com/l/_xCwX9ayRijBF

A. two sigma and two pi bonds

B. three sigma and one pi bond

C. two sigma and one pi bond

D. two sigma and three pi bonds

Answer: A

° Watch Video Solution

34. The flouride which is most soluble in water

A. CCI,F2

B. BCLF2

C. S’I"Fz

D. BGFQ


https://dl.doubtnut.com/l/_xCwX9ayRijBF
https://dl.doubtnut.com/l/_BZtEKLdH9KXd

Answer: D

° Watch Video Solution

35. The highest occupied energy level of the group 2
elements radius is 7s*, which of these statements is likely to
be incorrect?
A.The element will show an oxidation state +Il in all its
compounds
B.The element will decomposes water, liberating
hydrogen

C. Hydroxide of the elements will be amphoteric


https://dl.doubtnut.com/l/_BZtEKLdH9KXd
https://dl.doubtnut.com/l/_P8V65bQl1woA

D. Metal carbonate is relatively stable at higher

temperature than calcium carbonate

Answer: C

o Watch Video Solution

36. Amongst the following hydroxides, the one which has the
highest value of K, at orinately temperature is :
A.Mg(OH),
B.Ca(OH),
C.Sr(OH),

D. Ba(OH),

Answer: D


https://dl.doubtnut.com/l/_P8V65bQl1woA
https://dl.doubtnut.com/l/_v0vFMtxhIiii

o Watch Video Solution

37. Which of the following alkaline earth metal hydroxides is
the least soluble in water?

A. Be(OH),

B. Mg(OH),

C.Ca(OH),

D. Ba(OH),

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_v0vFMtxhIiii
https://dl.doubtnut.com/l/_AnARIa2b7OKw

38. The thermal stability of alkaline earth metal carbonates

— MgCQOs3, CaCO3, SrCO3 and BaCOs, follows order

A. BaCO3 > SrC0O3 > MgCOs

B.CaCO3 > SrCO3 > MgCO3 > BaCOs

C. MgCO3 > CaCO3 > SrCO3 > BaCOs

D. BaCO3 > SrCO35 > CaCO3 > MgCOs

Answer: D

° Watch Video Solution

39. Magnesium has polarising power close to that of :

A Lit


https://dl.doubtnut.com/l/_ACp7Hfjh1A1L
https://dl.doubtnut.com/l/_qiUND48B9YYw

B.Na™

CK™

D.Cs™

Answer: A

o Watch Video Solution

40. Which of the following salt does not impart colour to the
flame?

B. Mg(OH),

C. Mg(OH)CI


https://dl.doubtnut.com/l/_qiUND48B9YYw
https://dl.doubtnut.com/l/_C8iqylHHB48U

Answer: A

° Watch Video Solution

41. Mortal is mixture of :

A.Ca(OH),,silica and water
B. CaCO3 and S50,
C.CaO and silica

D. CaCOs3, 5103 and water

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_C8iqylHHB48U
https://dl.doubtnut.com/l/_8JQICYxpYqMa

42. When hydrated MgCI,.6 H5O is strongly heated,

A.MgO
B. Mg(OH),
C. Mg(OH)Cl

D. Mg(OH),

Answer: A

O Watch Video Solution

43. A piece of magnesium ribbon was heated to redness in an
atmosphere of nitrogen and then cooled with water. The gas

evolved is


https://dl.doubtnut.com/l/_y2oiqjlJnnqn
https://dl.doubtnut.com/l/_ZRsQDJiyUFLE

A. ammonia

B. hydrogen

C. nitrogen

D. oxygen

Answer: A

° Watch Video Solution

44, Plaster of paris when mixed with the correct amount of

water sets into solid mass due to the formation of:

A. CCLSO4
B. (CaS0,), - HyO

C. CCLSO4 . 2H20


https://dl.doubtnut.com/l/_ZRsQDJiyUFLE
https://dl.doubtnut.com/l/_rpoW7oGH5mKQ

D. CaO

Answer: C

° Watch Video Solution

45, Plaster of Paris is chemically calcium sulphate

monohydrate.

A. CCLSO4

B. CCLSO4 . 7H2O

C. 200,504 . HzO

D. CaSO, - 2H,0

Answer: C

| o Watch Video Solution


https://dl.doubtnut.com/l/_rpoW7oGH5mKQ
https://dl.doubtnut.com/l/_72j6wRwELIoD

46. Mg liberates H, on reaction with

A. dil.HCl

B. dil. H,S0,

C.very diLHNO;

D. All of these

Answer: D

° Watch Video Solution

47. At high temperature, nitrogen combines with CaC) to

give :


https://dl.doubtnut.com/l/_72j6wRwELIoD
https://dl.doubtnut.com/l/_WCaRSM4kUdCS
https://dl.doubtnut.com/l/_8kGevHmYNsyJ

A. Calcium Cyanide

B. Calcium Cyanamide

C. Calcium Carbonate

D. Calcium Nitride

Answer: B

° Watch Video Solution

48. Calcium hybride on hydrolysis forms?

A. CaO + H2
B.Ca(OH), only
C. CCL(OH)z + H2

D. Only CaO


https://dl.doubtnut.com/l/_8kGevHmYNsyJ
https://dl.doubtnut.com/l/_ciLwJMOXlnFF

Answer: C

° Watch Video Solution

49. Magnesium wire burns in the atomosphere of CO,

because

A. Magnesium acts as an oxidising agent

B. Magnesium has two electrons in the outmost shell

C. Magnesium acts as a reducing agent and removes

oxygen from C'O,

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ciLwJMOXlnFF
https://dl.doubtnut.com/l/_1gEbDG55ttwP

50. MgO is used for lining furnces because:

A. of high melting point of MgO

B. Mgo is a very good conductor of heat

C. MgO is an electrical insulator

D. None of these

Answer: A

° Watch Video Solution

51. Among LiCl, RbCl, BeCl,, MgCl,, the compounds with

greatest and least ionic character respectively are


https://dl.doubtnut.com/l/_1gEbDG55ttwP
https://dl.doubtnut.com/l/_whurb44j1e7L
https://dl.doubtnut.com/l/_sVABC24GVEd8

A. LiCl and RbCI

B. RbCl and Be(l,

C. RbCl and MgCl,

D. MgCly and BeCl,

Answer: B

° Watch Video Solution

52. Which of the following compounds does not have

similarity in their structural aspects?

A. FBSO4 . 7H20

B. NCLQCOg : 7H2O

C. MgSO, - TH,0


https://dl.doubtnut.com/l/_sVABC24GVEd8
https://dl.doubtnut.com/l/_N3dGdXK7dDiT

D. Z’I’LSO4 . 7H20

Answer: B

° Watch Video Solution

53.By adding gypsum to cement

A. Setting time of cement becomes less

B. Setting time of cement increase

C. Colour of cement becomes light

D. Shining surface is obtained

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_N3dGdXK7dDiT
https://dl.doubtnut.com/l/_w7us4QuiA5pl

54. A chemical 'A' is used for the preparation of washingg
soda to recover ammonia. When CQOs is bubbled through an
aqueous solution of ‘A, the solution turns milky. It is used in
white washing due to disinfectant nature. What is the
chemical formula off 'A”?

B. CaO

C.Ca(OH),

D. CCLCOg

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8oVTc7L4Niyo

55. Which is not similar characteristics(s) about the electronic

configuration of Be, Mg, Ca?

A.All the atoms have a pair of s-electrons in their

outermost energy level

B. All the atoms contains a pair of p-electrons in their

outermost energy level

C. All are alkaline earth metals

D. All are of second group of the periodic table

Answer: B

O Watch Video Solution



https://dl.doubtnut.com/l/_VGBxpcizK4tw

56. Sodium bicarbonate has :

A. lonic bond

B. Covalent bond

C. Hydrogen bond

D. All of these

Answer: (d)

O Watch Video Solution

57. Which of the following metal on burning in moist air does

not give smell of ammonia?

A. Mg


https://dl.doubtnut.com/l/_15KIogUTG3yc
https://dl.doubtnut.com/l/_oUOqEw1ql4OM

B. Ca

C.K

D. Li

Answer: C

° Watch Video Solution

58. For the alkali metals, which of the following increase with

increasing atomic number?

A. First ionization energy

B. Electronegativity

C. Hydration energy of the univalent ion

D. Atomic radius


https://dl.doubtnut.com/l/_oUOqEw1ql4OM
https://dl.doubtnut.com/l/_Vn83pcTqsioi

Answer: D

° Watch Video Solution

59. Among the corbonates of alkali metals which one has

highest thermal stability?

A. 082003

B. Rb,COs

C. K,CO;4

D. Na2003

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Vn83pcTqsioi
https://dl.doubtnut.com/l/_6JcJ4pTS4P7I
https://dl.doubtnut.com/l/_yHkxrFsInqHF

60. Which of the following is most soluble in water?

A.CsClOy

B. NaClO4

C. KCIlO,

D. LiClO,

Answer: D

° Watch Video Solution

61. A solution of sodium in liquid ammonia is blue in colour

due to:

A. The presence of ions Na ™"


https://dl.doubtnut.com/l/_yHkxrFsInqHF
https://dl.doubtnut.com/l/_y68UcQZhpzrU

B. The presence of ammoniated electron

C. The formation of NaNH,

D. The formation of sodium hydride

Answer: B

o Watch Video Solution

62. The basicity of the hydroxides of the following alkali

metals is of the order:

A.Li > Na > Rb > Cs

B.Na > Li > Rb > Cs

C.Cs > Rb > Na > Li

D.Rb > Cs > Na > Lz


https://dl.doubtnut.com/l/_y68UcQZhpzrU
https://dl.doubtnut.com/l/_WjiQMGZ5q07n

Answer: C

° Watch Video Solution

63. The metallic lustre exhibited by sodium is explained by"

A. diffusion of Na™ ions
B. oscillation of loose electrons
C. excitation of free protons

D. existence of body-centered cubic lattice

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_WjiQMGZ5q07n
https://dl.doubtnut.com/l/_wQgL4vecvDj6

64.Soda lime is made from:

A. Na + CaO + H,O
B. CaO + NaOH /(aq)
C. NaOH + CaCOs4

D. NaHCOg + CaO

Answer: B

O Watch Video Solution

65. The compound called microcosmic salt is :

A. NCLQHPO4 . ZHQO

B. Na(NH,)HPO, - 4H,0


https://dl.doubtnut.com/l/_5Cyep8FwdQ13
https://dl.doubtnut.com/l/_lK5FTlbsOmnF

C. NCLlNH4PO4 : 2H20

D. (NH,),HPO, - 2H,0

Answer: B

° Watch Video Solution

66. Potassium when heated strongly in oxygen, it forms:

A. K,0

B. KO,

C. K50,

D. KO,

Answer: B

.


https://dl.doubtnut.com/l/_lK5FTlbsOmnF
https://dl.doubtnut.com/l/_0Eu5JyyZURXy

| ¥ vvatch video Solution ]

67. When a concentrated solution of ammonia is saturated

with sodium chloride in the presence of pieces of dry ice, a

water cloud forms . Thid is due to the,

A. precipitation of sodium carbonate from the reaction

mixture

B. precipitation of sodium hydrogen carbonate from the

reaction mixture

C. precipitation of ammonium hydrogen carbonate from

the reaction mixture

D. precipitation of ammonium carbonate

Answer: B



https://dl.doubtnut.com/l/_0Eu5JyyZURXy
https://dl.doubtnut.com/l/_LCRRWJVyLB1K

| o Watch Video Solution

68. The compound formed on heating sodium metal in a

current of dry ammonia gas, is :

A.sodium imide

B. sodium nitride

C.sodium amide

D. sodium azide

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LCRRWJVyLB1K
https://dl.doubtnut.com/l/_MpRTV4ePVRzB

69. Which of the following compounds is not obtained when

the products obtained from the electrolysis of brine are

mixed?

A. NaCl

B. H,

C. NaOCl

D. Cl,

Answer: D

° Watch Video Solution

70.When dry ammonia gas is passed over heated sodium (in

absence of air) the product formed is :


https://dl.doubtnut.com/l/_4m9XFcY4EQ9P
https://dl.doubtnut.com/l/_eB4im8I8ruFg

A.sodium hydride

B. sodium nitride

C.sodamide

D. sodium cyanamide

Answer: C

o Watch Video Solution

71. Which of the following compounds liberate(s) oxygen on

heatin?

A. Li,CO,q

B. LiOH

C. LiNO;


https://dl.doubtnut.com/l/_eB4im8I8ruFg
https://dl.doubtnut.com/l/_y5xDzS415rFi

D. NaOH

Answer: C

o Watch Video Solution

72. Sodium peroxide is used to purify the air in submarines

and confined spaces because:

A. It removes CO5 and produces O,

B. it decomposes to form Na,O

C. it reacts with oxygen to form sodium superoxide

D. None of these

Answer: A

| ° Watch Video Solution


https://dl.doubtnut.com/l/_y5xDzS415rFi
https://dl.doubtnut.com/l/_zN80C7OrU2Nz

73. Which of the following salt is known as washing sode?

A. Na2003

B. NGQCOg . HQO

C. N(ZQCO?, . 10H20

D. NG,QCO?, . 5H2O

Answer: C

O Watch Video Solution

74. Which of the following compounds is formed when

sodium burns in excess supply of air?


https://dl.doubtnut.com/l/_zN80C7OrU2Nz
https://dl.doubtnut.com/l/_6SWKdmMfi5AH
https://dl.doubtnut.com/l/_tleXspSEwkZM

A. Sodium suboxide

B. Sodium oxide

C. Sodium peroxide

D. Sodium superoxide

Answer: C

o Watch Video Solution

75. Glauber's salt is :

A. NCI,2SO4

B. NayCOs - HyO

C. Na2003 : 5H20

D. Na2003 . 10H20


https://dl.doubtnut.com/l/_tleXspSEwkZM
https://dl.doubtnut.com/l/_vvkInwSRXJXU

Answer: D

° Watch Video Solution

76. Sodium hydroxide is produced on a large scale :

A. by the hydrolysis of Na;CO5

B. by the electrolysis of an aqueous solution of NaCl

C. by adding water to sodium oxide

D. by reacting sodium with water

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vvkInwSRXJXU
https://dl.doubtnut.com/l/_7dYDjsvgBy3z

77. Which of the following metal is used in flash bulbs?

A. Be

B. Mg

C.Ca

D. Ba

Answer: B

O Watch Video Solution

78. The pairs of compounds which cannot exist together in
aquous solution are:
(D)NaHyPO, and Nays HCO;3 (I)NayCO3 and NaOH

(M NaOH and NaH,PO, (NV)YNaHCQO3 and NaOH


https://dl.doubtnut.com/l/_YOURYm8Ph7cJ
https://dl.doubtnut.com/l/_RAT74usDmCT9

AL L

B. I, IV

C.LLIV

D. 11, Il
Answer: B

o Watch Video Solution

79. Which one on reaction with NaOH solution gives

inflammable gas?

AS

B.Zn

c. NH,CI


https://dl.doubtnut.com/l/_RAT74usDmCT9
https://dl.doubtnut.com/l/_ZrYuDLqgklA8

D. I,

Answer: B

° Watch Video Solution

80. In the

LiH + AlH; — LiAlH,, AlH; and LiH act as:

A. Lewis acid and Lewis base

B. Lewis base and Lewis acid

C. Bronsted base and Bronsted acid

D. None of these

Answer: A

reaction

| o Watch Video Solution


https://dl.doubtnut.com/l/_ZrYuDLqgklA8
https://dl.doubtnut.com/l/_vvGvohwjjbUo

81. Which of the following is the most important factor in

making lithium metal, the strongest reducing agent?

A. lonisation energy

B. Hydration energy

C. Heat of sublimation

D. None of these

Answer: B

° Watch Video Solution

82. Which set of compounds in the following pair of ionic

compounds has the higher lattice energy ?


https://dl.doubtnut.com/l/_vvGvohwjjbUo
https://dl.doubtnut.com/l/_7UPt34eu3BeF
https://dl.doubtnut.com/l/_n158wXq7I1df

(i)

KCl or MgO  (ii)LiF or LiBr
A. KOl, L’I:B’I", M93N2
B. MgO, LiBr, MgsN,
C. MgO, LiF', NaCl

D. MgO, L’I/F, M93N2

Answer: D

(i4i) M g3 Ny or NaCl

o Watch Video Solution

83. Sodium bicarbonate has :

A. lonic bond

B. Covalent bond


https://dl.doubtnut.com/l/_n158wXq7I1df
https://dl.doubtnut.com/l/_R29LiG4Vh1ak

C. Hydrogen bond

D. All of these

Answer: A

o Watch Video Solution

84. Compounds having lowest melting point:

A. LiCl

B.CsCl

C. RbCl

D. KCl

Answer: A

.


https://dl.doubtnut.com/l/_R29LiG4Vh1ak
https://dl.doubtnut.com/l/_G0ahmvyzaRKJ

| ¥ vvatch Viaeo sSolution ]

85. Incorrect statement is :

A.NaHCO3 and KHCQOj3 have same crystal structure

B. On heating LiNO3 decomposes into LioOanNO,

C. Among alkali metals, Li metal impart red colour flame

D. Li3 S0, does not form alum

Answer: A

o Watch Video Solution

86. The solubility of metal halides depends on their nature,

lattice enthalpy and hydration enthalpy of the individual ions.


https://dl.doubtnut.com/l/_G0ahmvyzaRKJ
https://dl.doubtnut.com/l/_d67vqRQ17mN6
https://dl.doubtnut.com/l/_5hCkkfRbGvUw

Amongst fluorides of alkali metals, the lowest solubilitty of

LiF in water is due to metals, the lowest solubility of LiF in

water is due to

A. lonic nature of lithium flouride

B. High lattice enthalpy

C. High hydration ethalpy of lithium ion

D. Low ionisation enthalpy of lithium atom

Answer: B

o Watch Video Solution

87. The reducing power of a metal depends on various
factors. Suggest the factor which makes Li, the strongest

reducing agent in aqueous solution.


https://dl.doubtnut.com/l/_5hCkkfRbGvUw
https://dl.doubtnut.com/l/_h1K5TSaxxg0u

A. Sublimation enthalpy

B. lonisation enthalpy

C. Hydration enthalpy

D. Electron-gain enthalpy

Answer: C

o Watch Video Solution

88. M g,C}5 reacts with water forming propyne gas. C’;)l_ ions
has:

A. two sigma and two pi bonds

B. three sigma and one pi bond

C. two sigma and one pi bond


https://dl.doubtnut.com/l/_h1K5TSaxxg0u
https://dl.doubtnut.com/l/_IFJ6skIouQ8P

D. two sigma and three pi bonds

Answer: A

° Watch Video Solution

89. The flouride which is most soluble in water is :

A. CCLFQ

B. BCI,FZ

C. S’I"FQ

D. B€F2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_IFJ6skIouQ8P
https://dl.doubtnut.com/l/_oGLzfwMYCzCx

90. The highest occupied energy level of the group 2
elements radius is 7s?, which of these statements is likely to
be incorrect?
A.The element will show an oxidation state +Il in all its
compounds
B.The element will decomposes water, liberating
hydrogen
C. Hydroxide of the elements will be amphoteric
D. Metal carbonate is relative stable at higher

temperature than calcium carbonate

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_tyJAhMWQMKY0

91. Amongst the following hydroxides, the one which has the
highest value of K, at orinately temperature is :
A.Mg(OH),
B.Ca(OH),
C.Sr(OH),

D. Ba(OH),

Answer: D

° Watch Video Solution

92. Which of the following alkaline earth metal hydroxides is

the least soluble in water?


https://dl.doubtnut.com/l/_W6awiO8iC4HO
https://dl.doubtnut.com/l/_cbQtr2ZdlsWS

A. Be(OH),
B. Mg(OH),
C.Ca(OH),

D. Ba(OH),

Answer: A

° Watch Video Solution

93. The thermal stability of

BaCO;, CaCOs3, STCO3 and MgCO3 decrease in the

order:

A. BCI,COg > ST'COg > MgCOg

B.CaCO3 > SrCO3 > MgCO3 > BaCOs3


https://dl.doubtnut.com/l/_cbQtr2ZdlsWS
https://dl.doubtnut.com/l/_OkgxNQpgFpRw

C. MgCO3 > CaCO3 > SrCO3 > BaCO;

D. BaCO5 > SrCO35 > CaCO3 > MgCOs

Answer: D

o Watch Video Solution

94. Magnesium cation has polarising power close to that of :

A Li"

B.Na™t

CK™

D.Cs™

Answer: A

.


https://dl.doubtnut.com/l/_OkgxNQpgFpRw
https://dl.doubtnut.com/l/_ERukY51P8oUj

| ¥ vvatch vidaeo sSolution ]

95. Which of the following salt does not impart colour to the
flame?

A MgClz

B. Mg(OH),

C. Mg(OH)CI

D. C’aC’l2

Answer: A

° Watch Video Solution

96. Mortar is mixture is ,


https://dl.doubtnut.com/l/_ERukY51P8oUj
https://dl.doubtnut.com/l/_r3pctB3umAla
https://dl.doubtnut.com/l/_qQzxIEOl2hAa

A.Ca(OH),,silica and water
B. CaCO3 and S50,
C.CaO and silica

D. CaCOs3, 5103 and water

Answer: A

o Watch Video Solution

97. When MgCl, - 6h50 is strongly heated, then it forms

A. MgO
B. Mg(OH),
C. Mg(OH)Cl

D. Mg(OH),


https://dl.doubtnut.com/l/_qQzxIEOl2hAa
https://dl.doubtnut.com/l/_HQzsXiqEoKOF

Answer: A

° Watch Video Solution

98. A piece of magnesium ribbon is heated to redness in an
atmosphere of nitrogen and on cooling with water, the
evolved gas is :

A.ammonia

B. hydrogen

C. nitrogen

D. oxygen

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_HQzsXiqEoKOF
https://dl.doubtnut.com/l/_aUuqOASGFCwB

99. Plaster of paris when mixed with the correct amount of
water sets into solid mass due to the formation of:

A CCLSO4

B. (CCI,SO4)2 . HQO

C.CaS0O, - 2H50

D.CaO

Answer: C

o Watch Video Solution

100. Plaster of paris is :

A. CCLSO4


https://dl.doubtnut.com/l/_aUuqOASGFCwB
https://dl.doubtnut.com/l/_uscsASj4DMCv
https://dl.doubtnut.com/l/_HmcezO1xs4oY

B. CCLSO4 . 7H20

C. 200,504 : HQO

D.CaS0Oy - 2H50

Answer: C

o Watch Video Solution

101. Magnesium liberates Hs on reaction with :

A. dil.HCI

B. dil. H,S0,

C.very diLHNO;

D. All of these


https://dl.doubtnut.com/l/_HmcezO1xs4oY
https://dl.doubtnut.com/l/_4wQEdZHVyYZe

Answer: D

° Watch Video Solution

102. At high temperature, nitrogen combines with CaCs to

give:

A. Calcium Cyanide

B. Calcium Cyanamide

C. Calcium Carbonate

D. Calcium Nitride

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4wQEdZHVyYZe
https://dl.doubtnut.com/l/_qZfhKWNT2JKa
https://dl.doubtnut.com/l/_fZ9S6GuSWVdO

103. Calcium hybride on hydrolysis forms?

A. CaO + H2
B.Ca(OH), only
C. CCL(OH)2 + H2

D. Only CaO

Answer: C

° Watch Video Solution

104. Magnesium wire is heated in the atmosphere of CO,

because:

A. Magnesium acts as an oxidising agent


https://dl.doubtnut.com/l/_fZ9S6GuSWVdO
https://dl.doubtnut.com/l/_b8P1k0k9yaIb

B. Magnesium has two electrons in the outmost shell

C. Magnesium acts as a reducing agent and removes

oxygen from C'O,

D. None of these

Answer: C

o Watch Video Solution

105. MgO is used for lining furnces because:

A. of high melting point of MgO

B. Mgo is a very good conductor of heat

C. MgO is an electrical insulator

D. None of these


https://dl.doubtnut.com/l/_b8P1k0k9yaIb
https://dl.doubtnut.com/l/_lYDvHhRIOumc

Answer: A

° Watch Video Solution

106. Among LiCl, RbCl, BeCl,, MgCl,, the compounds

with greatest and least ionic character respectively are

A. LiCl and RbCI

B. RbCl and BeCl,

C. RbCl and MgCl,

D. MgCly and BeCl,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_lYDvHhRIOumc
https://dl.doubtnut.com/l/_y4c3NEHrg5A2
https://dl.doubtnut.com/l/_r903DiuI92Ym

107. Which of the following compounds does not have

similarity in their structural aspects?

A. FeSO4 : 7H20

B. NCLQCOg : 7H2O

C. MgSO, - TH,0

D. Z’I’LSO4 : 7H20

Answer: B

o Watch Video Solution

108. By adding gypsum to cement

A. Setting time of cement becomes less


https://dl.doubtnut.com/l/_r903DiuI92Ym
https://dl.doubtnut.com/l/_XYKaRGFra4eh

B. Setting time of cement increase

C. Colour of cement becomes light

D. Shining surface is obtained

Answer: C

o Watch Video Solution

109. A chemical ‘A’ is used for the preparation of washingg
soda to recover ammonia. When COs is bubbled through an
aqueous solution of ‘A, the solution turns milky. It is used in
white washing due to disinfectant nature. What is the

chemical formula off 'A’?

A Ca(HCO),

B.CaO


https://dl.doubtnut.com/l/_XYKaRGFra4eh
https://dl.doubtnut.com/l/_GneIRrQvDq9S

C.Ca(OH),

D. CCLCOg

Answer: B

o Watch Video Solution

110. Which is not similar characteristics(s) about the
electronic configuration of Be, Mg, Ca?
A All the atoms have a pair of s-electrons in their
outermost energy level
B. All the atoms contains a pair of p-electrons in their
outermost energy level

C. All are alkaline earth metals


https://dl.doubtnut.com/l/_GneIRrQvDq9S
https://dl.doubtnut.com/l/_hKo1IZUHxnUY

D. All are of second group of the periodic table

Answer: B

° Watch Video Solution

1. KO2—|—CO2+H2O%>A—|—B,then A and B are
2

respectively

A. K,C0;, O,
B. KHCO;, O,
C. KOH, K,COs

D. KHCO4, H,O


https://dl.doubtnut.com/l/_hKo1IZUHxnUY
https://dl.doubtnut.com/l/_QV9fhpl1ucWc

Answer: B

° Watch Video Solution

2. The correct order of increasing solubility in water is:

A .KF < NaF < IiF

B. NaHCO3; < KHCO3 < RbHCOs4

C. K;CO3 < NayCO3 < LiyCOsq

D. LiNO3 < NaNQO3; < KNOs

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_QV9fhpl1ucWc
https://dl.doubtnut.com/l/_FrrwnMYSOtqD

3. Which of the following carbonate salt is soluble due to
high entropy change?

A. K,COg4

B. LioC'O3

C.(INHy),CO4

D. Na2003

Answer: C

° Watch Video Solution

4. Which of the following compounds decompose on heating

?


https://dl.doubtnut.com/l/_iRRzc4Hu3FTY
https://dl.doubtnut.com/l/_V2LCdZOJgnZE

A. NCLHCO3

B. N&gCOg

C. CCLCO3

D. K,S0,

Answer: A::C

° Watch Video Solution

5. Li does not resemble with other alkali metals in following

properties?

A. Li,C O3 decomposes into oxides while other alkali

metal carbonate are thermally stable

B. LIC! is predominately covalent


https://dl.doubtnut.com/l/_V2LCdZOJgnZE
https://dl.doubtnut.com/l/_mkv2TgrI20BJ

C. LigN is formed when Li metal is heated with Nygas

D. All of these

Answer: D

o Watch Video Solution

6. Which of the following statement about the sulphate of
alkali metals is correct ?
A. Except Liy S0, all sulphate of other alkali metals are

soluble is water

B. All sulphate salts of alkali metals except lithium

sulphate form alum


https://dl.doubtnut.com/l/_mkv2TgrI20BJ
https://dl.doubtnut.com/l/_pe1ImxkK3ca7

C.All sulphate salts of alkali metals except lithium
sulphate do not decompose at high temperature

D. All of these

Answer: D

o Watch Video Solution

7. The metallic lustre of metals is due to :

A. they have a hard surface and light is reflected back

B. their crystal structure contains ordered arrangement of
constituent atoms

C. they contain loosely bound electrons which absorb the

photons and then re-emit


https://dl.doubtnut.com/l/_pe1ImxkK3ca7
https://dl.doubtnut.com/l/_Qn6y9hEF0hAW

D. they are obtained from the minerals on which light has

been falling for years

Answer: C

o Watch Video Solution

8. Select incorrect statement:

A. Li,COg3 is only sparingly soluble in water and no

LiHCOs3 has been process

B. KsCO3 can not be made by a method similar to the

solvey process

C. LisCO3 and MgCQOs3 both are thermally stable

D. NasCOs3, NaHCQO;3 - 2H,0 is a mineral called trona


https://dl.doubtnut.com/l/_Qn6y9hEF0hAW
https://dl.doubtnut.com/l/_EQUul2XQzWCY

Answer: C

° Watch Video Solution

9. Melting point of mixture of Na;CO3 + K5COs is :

A. Higher than that of Na;CO3
B. Higher than that of K,CO3
C. Lower than that of both NayCO3 and K,CO;3

D. Lower than that of K,C'O3 only

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_EQUul2XQzWCY
https://dl.doubtnut.com/l/_4h2Wl5zopJxu

10. Select the incorrect statement:

A. Stability of peroxides and superoxides of alkali metals

increase in size of the metal ion

B. NaOH does not form hydrated salt

C.Increase in stability in option (a) is due to stabilization

of large anion by larger cations through lattice energy

effects

D. The low solubility of LiF is due to its high lattice energy

whereas low solubility of Csl is due to smaller hydration

energy

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Vz4pPp6NJRBO

11. The alkali metals dissolve in liquid N Hg, it is found that:

A. The dilute solution are blue but the colour changes to

bronze with increasing concentration

B.The blue colour is due to presence of solvated

electrons

C.The blue solutions are paramagnetic but the bronze

coloured solutions are diamagnectic

D. All the facts given above are found

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Vz4pPp6NJRBO
https://dl.doubtnut.com/l/_mwxxJAdJ7FoH
https://dl.doubtnut.com/l/_s0LMHPLF0xrP

12. Among the nitrate of alkali metals which one can be

decomposed to its oxide on strong heating?

A. NCLN03

B. KNO;

C. LiNOs

D. All of these

Answer: D

o Watch Video Solution

13. When a standard solution of NaOH is left in air for a few

hours:

A. a precipitate will form


https://dl.doubtnut.com/l/_s0LMHPLF0xrP
https://dl.doubtnut.com/l/_yYMwCkmksmfZ

B. strength of solution will decrease

C. the strength of solution will increase

D. the concentration of Na™ ion in solution will remains

same

Answer: B

o Watch Video Solution

14. The addition of NaysCOs, to the aqueous solution of an

oxide produces COs. This reaction indicates that

A. the oxide is basic

B. the oxide is amphoteric

C.the oxide is that of a metal


https://dl.doubtnut.com/l/_yYMwCkmksmfZ
https://dl.doubtnut.com/l/_2joJ17Y7GYum

D. the oxide is that of a non-metal

Answer: D

° Watch Video Solution

BaCl
15.5alt A + S — white ppt.
Ais paramangnetic is nature and contains about 55% K. Thus,
Als:
A. K0
B. K202
C. KO,

D. K350,

Answer: C


https://dl.doubtnut.com/l/_2joJ17Y7GYum
https://dl.doubtnut.com/l/_lLiKE7m16l2p

o Watch Video Solution

16. Baking powder used to make cake is a mixture of starch,
NaHCO3 and Ca(HyPOy),. The function of Ca(HyPOy),
is
A.to show down the release of CO, gas
B. being acidic in nature and gives C'O, when moistened
with NaHCO4
C.to act as afiller

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lLiKE7m16l2p
https://dl.doubtnut.com/l/_0KbzvaYCCqLP

17. To an acidified dichromate solution, a pinch of NayO, is

added and shaken. What is observed ?

A. Blue colour

B. Orange colour changing to greeen directly

C. Copious evolution of oxygen

D. Bluish-green precipitate

Answer: A::C

° Watch Video Solution

18. Which of the following compounds is consumed during

the preparation of Nay,C'Oj3 by Solvay's process?


https://dl.doubtnut.com/l/_K3gJwUgPLJrz
https://dl.doubtnut.com/l/_81ecTrwZbLhr

A. NH3, CCLCOg, NCI,Cl

B. NHj, CaO, NaCl

C.CaCO3, NaCl

D. NaCl, NH,HCO;

Answer: C

o Watch Video Solution

19. Which of the following statement is incorrect?

A. Sodium and potassium are soft and silvery white metals

B. Sodium and potassium in air get tarnished due to the

formation of a layer of oxide or carbonates


https://dl.doubtnut.com/l/_81ecTrwZbLhr
https://dl.doubtnut.com/l/_kckMgTWL7UeT

C.Sodium and potassium burn in dry oxygen (excess)

giving peroxides

D.Sodium and potassium are kept under kerosene to

avoid the contact with air and moisture

Answer: C

o Watch Video Solution

20. Nitrogen dioxide can not be obtained from

A. CU(NO3)2
B. Hg(N03)2
C. NaN03

D. AgN03


https://dl.doubtnut.com/l/_kckMgTWL7UeT
https://dl.doubtnut.com/l/_jQdxVfauAF3g

Answer: C

O Watch Video Solution

21. A + H20 — NaOH

H>

02 0]
A > B > NaOH + O,,
400°C  at25°C

B is used for oxygenating in submarines A and B are
respectively.

A. Na202 and NGQO

B.Na20 and NCL202

C. Na202 and 02

D. N(ZQO and 02

Answer: B



https://dl.doubtnut.com/l/_jQdxVfauAF3g
https://dl.doubtnut.com/l/_nxj1BLByn2HN

[ W Watch Video Solution ]

22. Which of the following is widely used for treating ice on

roads, particularly in very cold countries?

A. CaCl, is less soluble in HyO than NacCl
B. C'aCl, is hygroscopic but NaCl is not
C. eutectic mixture of CaCly/H50 freezes at —55°C

while that of NaCl/H5O freezes at —18°C

D. NaCl makes the road slipperty but C'aCl, does not

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_nxj1BLByn2HN
https://dl.doubtnut.com/l/_8rMCJAhvcjAf

23. A metal which does not react with nitrogen is :

A Li

B. K

C.Ca

D. Mg

Answer: B

O Watch Video Solution

24. The pair of compounds which cannot exist together in
aqueous solution is:

(I)NaH,PO, and NaHCO3  (II)NayCOs and


https://dl.doubtnut.com/l/_iPYUncz1h6O3
https://dl.doubtnut.com/l/_3FvWYCdHFq6t

NG,HCO?,

(IIIYNaOH and NaH,PO, (IV)NaHCO;and NaOH
A LI
B. I, I
C. L v

D.only IV

Answer: D

o Watch Video Solution

25.The incorrect order of solubility in water is:

A.Ca(OH), < Sr(OH), < Be(OH),

B.Li,CO3 < NayCO3 < K,COsq


https://dl.doubtnut.com/l/_3FvWYCdHFq6t
https://dl.doubtnut.com/l/_9I5AuQ0CFocb

C. KNO3 < RbNOg < CSNO3

D. BCI,SQO3 < MgSQOg < CCLSQO:),

Answer: D

o Watch Video Solution

26. Which metal bicarbonates does not exist in solid state?
A. (i)
B. (ii)
C. (iii)

D. (iv)

Answer: A


https://dl.doubtnut.com/l/_9I5AuQ0CFocb
https://dl.doubtnut.com/l/_4lRP1KEt02ID

o Watch Video Solution

27. Which of the following order is correct?

AK"T < Cda®" < P3~ < 8% lonicsize

B.Na;[]_ > Ka]; > ij[l_ > C.S‘;,—].: Electrical
conductance

C. AL > Mg > Nag : Hydrated size

D.I,, < Brg, > Cly, > Fy :lonic mobility

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4lRP1KEt02ID
https://dl.doubtnut.com/l/_oB6SUCfrJB8p

) H>0 HCI
28. Metal M -+ air s A > White fumes, Metal

M can be:

A. Li, Mg

B. Li, Al or K

C.Na,Kor Mg

D. Li, Na or K

Answer: A

° Watch Video Solution

29.X and Y are two metals. When burnt in air, X forms only
oxide while Y forms oxide and nitride. The metals X and Y may

be:


https://dl.doubtnut.com/l/_civgN6EYy9lk
https://dl.doubtnut.com/l/_JeXpkxh25eeS

A. Ca and Mg

B. Na and Mg

C.Li and Na

D. Na and K

Answer: B

° Watch Video Solution

30. Which is incorrect statement?

A.The heats of hydration of the dipositive alkaline earth

metal ions decrease with an increase in their ionic size

B. NalNO3 forms NasO5 on heating


https://dl.doubtnut.com/l/_JeXpkxh25eeS
https://dl.doubtnut.com/l/_gKVEUgWixnLK

C. Hydration of alkali metal ion is less than that of IIA

group

D. Alkaline earth metal ions, because of their much larger

charge to size ratio, exert much stronger electrostatic

attraction on the oxygen of water molecule

surrounding them

Answer: B

o Watch Video Solution

31. Which of the following statement is incorrect?

A. The atomic radius of Na is greater than that of Mg


https://dl.doubtnut.com/l/_gKVEUgWixnLK
https://dl.doubtnut.com/l/_s7ftW4I1uKDW

B. Metallic bond of Mg is stronger than the metallic bond

in Na

C. Melting and boiling point of Mg are greater than those

of Ca

D. Mg and Ca are the most abundant elements amongst

the alkaline earth metals

Answer: C

o Watch Video Solution

32. Thermal stability of MCOs is in order:

A. BeCO3 < MgCO3 < CaCO3 < SrCO3 < BaCOs

B. MgCO3 < BeCO3 < CaCO3 < SrCO3BaCOs


https://dl.doubtnut.com/l/_s7ftW4I1uKDW
https://dl.doubtnut.com/l/_9Mg3zqPW6Pq7

C. CCLCO3 < S’I"CO3 < BCLCOg < B6003 < MgCO3

D. BGCOg > ST'COg > CCLCO?, > MgOO3 < BGOOg

Answer: A

o Watch Video Solution

33. Select incorrect statement about alkaline earth metals:

A. Solubility of sulphates decrease down the group

B. Solubility of hydroxides decrease down the group

C.Thermal stability of carbonates increase down the

group

D. Basic nature increase down the group


https://dl.doubtnut.com/l/_9Mg3zqPW6Pq7
https://dl.doubtnut.com/l/_07dsZP7LIsEe

Answer: B

° Watch Video Solution

34. In polymeric (BeCl,),,, there are:

A. Three centre four-electron bonds
B. Three centre three-electron bonds
C. two centre three-electron bonds

D. two centre two-electron bonds

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_07dsZP7LIsEe
https://dl.doubtnut.com/l/_UChBJ1ckfBG3

35. A metal is burnt in air and the ash on moistening smells

of ammonia. The metal is

A. Na

B. Fe

C. Mg

D. Al

Answer: C

° Watch Video Solution

36. Which is not obtained when metal carbides react with

H,0?


https://dl.doubtnut.com/l/_cLh2GsUIhN6i
https://dl.doubtnut.com/l/_dbj4dW0TV5A6

C. Mg4C3 + HQO — CH3C =CH

D. BezC + HQO — CH4

Answer: A

o Watch Video Solution

37. Choose incorrect statement:

A. BeCOs is kept in the atmosphere of C'O, since, it is
least thermally stable

B. Be dissolves in alkali forming [Be(OH)LL]%


https://dl.doubtnut.com/l/_dbj4dW0TV5A6
https://dl.doubtnut.com/l/_r303pob8BxD2

C. BeF; forms complex ion with NaF in which Be goes

with cation

D. BeF, forms complex ion with NaF in which Be goes

with anion

Answer: C

o Watch Video Solution

38. 1A (alkaline earth metals) and I1IB (zinc family) resemble:

A. MgSO, - TH,0 is isomorphous with ZnSO, - TH,O

B. IIA and IIB cations are ont precipitated by H5S in acidic

medium

C. both (a) and (b)


https://dl.doubtnut.com/l/_r303pob8BxD2
https://dl.doubtnut.com/l/_Y3bOP3Fkye5W

D. None of the above

Answer: A

° Watch Video Solution

39. Select the correct statement:

A. Be and Al show diagonal relationship
B. Be forms tetrahedral complexes [Be(0204)2]2 -

C. Al forms AlFﬁz_ , an octahedral complex

D. All are correct statements

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Y3bOP3Fkye5W
https://dl.doubtnut.com/l/_PZkRiApHuxwl

40. Calcium imide on hydrolysis will give gas (B) which on
oxidation by bleaching powder given gas (C). Gas (C) on
reaction with magnesium gives compound (D). (D) on
hydrolysis gives again gas (B). (B), (C) and (D) are:

A.NHs, Ny, Mg3 N,

B. Ny, NHy, MgNH

C. Nay, N;O5, Mg(NOs3),

D. NH;3, NO,, Mg(NOs),

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pSZsrRoeHvG8

41. A compound X on heating gives a colourless gas. This
residue is dissolved in water to obtain Y. excess CO, is
bubbled through aqueous solution of Y, Z is formed. Z on
gentle heating give back X. the X is

A. CCLCOg

B. CCI,(HCO3)2

C. NCLQCOg

D. NCLHCOg

Answer: A

o Watch Video Solution

42. Which of the following statement is false?


https://dl.doubtnut.com/l/_bMG4a0zXPceX
https://dl.doubtnut.com/l/_G0mZAzjG3y8T

A.The milk of magnesia used as antacid is chemically

B. Stability of alkali metal oxides incease with increase in

atomic numbers

C. Hydration energy of AgF is higher than its lattice

energy

D. Anhydrous MgCls; cannot be prepared by direct

heating of MgCl, - 6H,0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_G0mZAzjG3y8T

43. The more commonly used baking powder contains about
30 % NaHCOs, 20 % NaK(SO,),, 10 % Ca(H5PO,), and
40% starch. Which of the following statements is/are
correct?
A.Ca(HyPOy) is acidic and when moistened it reacts
with NaHCO, evolving CO, gas
B. NaAl(SO,), shows down the decomposition reaction
of NaHCOj so that C'O, is evolved more slowly.
C. NaAl(SOy), is acidic and when moistened it reacts

with NaHCOj3 evolving CO,

D. Both (a) and (b)

Answer: D

| nlnl,l 1. vl o~ _ 1 n®


https://dl.doubtnut.com/l/_bix69wcFs7Bt

I ™ Vvald video o01uLion

44. KO, + COy + HyO 2255 1x] 4 [¥]

Products [X] and [Y] are respectivily.
A K,COs3, Oy
B. KHCOs, O,
C. KOH, K,CO;

D. KHCOs, H,0

Answer: B

° Watch Video Solution

45.The correct order of increasing solubility in water is:


https://dl.doubtnut.com/l/_bix69wcFs7Bt
https://dl.doubtnut.com/l/_PmSdallRj9iS
https://dl.doubtnut.com/l/_kdh2XRSmM3Bt

A.KF < NaF < IiF

BNCLHOOg < KHCOg < RbHCOg

C. K;CO3 < NayCO3 < LiyCOsq

D. LiNO3 < NaNOs

Answer: B

° Watch Video Solution

46. Which of the following carbonate salt is soluble due to
high entropy change?

A. K,CO;3

B. LioCO3

C.(NH,),CO;


https://dl.doubtnut.com/l/_kdh2XRSmM3Bt
https://dl.doubtnut.com/l/_OhdiOiuIK5YQ

D. NCLQCOg

Answer: C

° Watch Video Solution

47. Which of the following compounds decomposes on

heatin?

A. NaHCOg

B. Na2003

C. CCLCO3

D. K,S0,

Answer: A::C

I o Watch Video Solution


https://dl.doubtnut.com/l/_OhdiOiuIK5YQ
https://dl.doubtnut.com/l/_GCIuurvVirdg

48. Li does not resemble with other alkali metals in following

properties?

A. Li,CO3 decomposes into oxides while other alkali

metal carbonate are thermally stable

B. LIC! is predominately covalent

C. LigN is formed when Li metal is heated with Nygas

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_GCIuurvVirdg
https://dl.doubtnut.com/l/_BpLcdzMG9wst

49. Which of the following statement about the sulphate of

alkali metals is correct ?

A. Except Li,CO4 all sulphate of other alkali metals are

soluble is water

B. All sulphate salt of alkali metals except lithium sulphate

forms alum

C.All sulphate salts of alkali metals except lithium

sulphate do not decomposes at high temperature

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_8OSPyEFHwleU
https://dl.doubtnut.com/l/_YD3BR8V0XHnz

50. Alkali metals posses metallic lustre when freshly cut

because

A. they have a hard surface and light is reflected back

B. their crystal structure contains ordered arrangement of

constituent atoms

C. they contain loosely bound electrons which absor the

photons and then re-emit

D. they are obtained from the minerals on which light has

been falling for years

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_YD3BR8V0XHnz

51. Select the incorrect statement:

A. Li,CO;3 is only sparingly soluble in water and no

LiHCOs3 has been isolated.

B. K5CO3 can not be made by a method similar to the
solvey process

C. LisCO3 and MgCQOj3 both are thermally stable

D. NasCO3. NaHCQOs3 - 2H50 is a mineral called trona

Answer: C

o Watch Video Solution

52. Melting point of mixture of Na;CO3 + K5COs is :


https://dl.doubtnut.com/l/_kZ7jySj3HGCi
https://dl.doubtnut.com/l/_b0OMUyG7rAp9

A. Higher than that of Na;CO3

B. Higher than that of K5CO;

C. Lower than that of both NayCO3 and K,CO;3

D. Lower than that of K5C'Oj3 only

Answer: C

o Watch Video Solution

53. Select incorrect statement:

A. Stability of peroxides and superoxides of alkali metals

increase in size of the metal ion

B. NaOH does not form hydrated salt


https://dl.doubtnut.com/l/_b0OMUyG7rAp9
https://dl.doubtnut.com/l/_fe3cy2m68G43

C.Increase in stability in (a) is due to stabilisation of large
anoin by larger cations through lattice energy effects

D. The low solubility of LiF is due to its high lattice energy
whereas low solubility of Csl is due to smaller hydration

energy

Answer: D

o Watch Video Solution

54.The alkali metals dissolve in liquid N Hj, it is found that:

A. The dilute solution are blue but the colour changes to

brone with increasing concentration


https://dl.doubtnut.com/l/_fe3cy2m68G43
https://dl.doubtnut.com/l/_ytQhc1nfcWeT

B.The blue colour is due to presence of solvated

electrons

C.The blue solutions are paramagnetic but the bronze

coloured solutions are diamagnectic

D. All the facts given above are found

Answer: D

o Watch Video Solution

55. Among the nitrate of alkali metals which one can be

decomposed to its oxide on strong heating?

A. NCLNOg

B. KNOs


https://dl.doubtnut.com/l/_ytQhc1nfcWeT
https://dl.doubtnut.com/l/_xQ8mGRlOoMKD

C. LiNOs

D. All of these

Answer: D

o Watch Video Solution

56. When a standard solution of NaOH is left in air for a few

hours:

A. a precipitate will form

B. strength of solution will decrease

C. the strength of solution will increase

D. the concentration of Na™ ion in solution will remains

same


https://dl.doubtnut.com/l/_xQ8mGRlOoMKD
https://dl.doubtnut.com/l/_ZRsDqmIsBmiF

Answer: B

° Watch Video Solution

57. The addition of NayCOs3, to the aqueous solution of an

oxide produces COs. This reaction indicates that

A. the oxide is basic

B. the oxide is amphoteric

C.the oxide is that of a metal

D. the oxide is that of a non-metal

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ZRsDqmIsBmiF
https://dl.doubtnut.com/l/_lL59tDw7KxPu
https://dl.doubtnut.com/l/_Y2d06KFnVamT

BaCly : .. .
58. Salt A+ S — B—— White precipitate A is
paramagnetic in nature and contains about 55% K. Thus, A is
A. K,0
B. K,0,
C. KO,

D. K350,

Answer: C

o Watch Video Solution

59. Baking powder used to make cake is a mixture of starch,

NaHCO;3 and Ca(H;POy). The function of Ca(HyPOy) is


https://dl.doubtnut.com/l/_Y2d06KFnVamT
https://dl.doubtnut.com/l/_0hSNRpCMxkWp

A. to show down the release of CO, gas

B. being acidic in nature and gives C'Oy when moistened

with NaHCOs

C.to act as a filler

D. None of these

Answer: B

o Watch Video Solution

60. To an acidified dichromate solution,, a pinch of Nay0, is

added and shaken. What is observed?

A. Blue colour

B. Orange colour changing to greeen directly


https://dl.doubtnut.com/l/_0hSNRpCMxkWp
https://dl.doubtnut.com/l/_IgEZ5rPs7RmY

C. Copious evolution of oxygen

D. Bluish-green precipitate

Answer: A::C

o Watch Video Solution

61. Which of the following compounds is consumed during

the preparation of NayCOj3 by Solvay's process?

A. NH3, CCI,CO3, NaCl

B. NHj, CaO, NaCl

C. CaCOs, NaCl

D. NaCl, NH,HCOs

Answer: C


https://dl.doubtnut.com/l/_IgEZ5rPs7RmY
https://dl.doubtnut.com/l/_2FU772LmSpmQ

o Watch Video Solution

62. Which of the following statement is incorrect?

A. Sodium and potassium are soft and silvery white metals

B. Sodium and potassium in air get tarnished due to the

formation of a layer of oxide or carbonates

C.Sodium and potassium burn in dry oxygen (excess)

giving peroxides

D.Sodium and potassium are kept under kerosene to

avoid the contact with air and moisture

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_2FU772LmSpmQ
https://dl.doubtnut.com/l/_9BLO8Ri6jJqZ

63. Nitrogen dioxide cannot be obtained from:

A. CU(N03)2
B. Hg(NOs3),
C. NCLNOg

D. AgNO3

Answer: C

o Watch Video Solution

64.

) H>0O
A" + H,O — NaOH: A’ > B > NaOH + O,
400°C at25°C

B is used for oxygenating in submarine A and are:


https://dl.doubtnut.com/l/_9BLO8Ri6jJqZ
https://dl.doubtnut.com/l/_lxqBaIniDy4S
https://dl.doubtnut.com/l/_o0lVx0Eto6EQ

A. NayOy and NayO

B. NCLQO and NCL202

C. NCL202 and 02

D. NayO and O,

Answer: B

o Watch Video Solution

65. CaCl, is preferred over NaCl for clearing ice on roads

particularly in very cold countries. This is because:

A. CaCl, is less soluble in HyO than Nacl

B. C'aCl, is hygroscopic but NaCl is not


https://dl.doubtnut.com/l/_o0lVx0Eto6EQ
https://dl.doubtnut.com/l/_l1hefZBZJh9i

C. Eutectic mixture of CaCly/H50 freezes at —55°C
while that of NaCl/H,O freezes at —18°C

D. NaCl makes the road slipperty but C'aCl, does not

Answer: C

° Watch Video Solution

66. A metal which does not react with nitrogen is :

A. Li

B. K

C.Ca

D. Mg


https://dl.doubtnut.com/l/_l1hefZBZJh9i
https://dl.doubtnut.com/l/_2XqGtdkoBu5t

Answer: B

° Watch Video Solution

67. Which metal bicarbonates does not exist in solid state?
() LtHCO; (ii)C’a(HCOg)2 (iii)Zn(HC’O;;)z (iv)CaS505
A L LTI
B. I, 11l
C. I, IV

D.only IV

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_2XqGtdkoBu5t
https://dl.doubtnut.com/l/_N95WGgxTr1Oy
https://dl.doubtnut.com/l/_AF3Rpp21Wz15

68. The incorrect order of solubility in water is:

A.Ca(OH), < Sr(OH), < Be(OH),
B.Li,CO3 < NayCO3 < K;COsq
C.CsNO3 < RbNO3; < KNOs

D. Ba$S;03 < MgS;03 < CaS;0;

Answer: D

° Watch Video Solution

69. Which metal bicarbonates does not exist in solid state?

() Li HCOj (ii))Ca(HCO3), (iii) Zn(HCO3), (iv)CaSy0s

° Watch Video Solution



https://dl.doubtnut.com/l/_AF3Rpp21Wz15
https://dl.doubtnut.com/l/_HhX8WtUqEupg
https://dl.doubtnut.com/l/_4NdKVwidaI6Q

70. Which one of the following order is correct ?

AKT < Ca®" < P3 < 8% lonicsize

B.Na;[l. > K;{;. > Rb;;, > C’s;;.: Electrical
conductance

C. Alg;_ > Mggqf > Na,a*q.: Hydrated size

D.I,, < Bry, > Cl,, > F,; :lonic mobility

Answer: C

o Watch Video Solution

) 5 H>0 HCl )
71. Metal M + air > A > B > White fumes, Metal

M can be:


https://dl.doubtnut.com/l/_4NdKVwidaI6Q
https://dl.doubtnut.com/l/_gsgGo4bB25Ry

A. Li, Mg

B. Li, Al or K

C.Na, K or Mg

D. Li, Na or K

Answer: A

° Watch Video Solution

72.X and Y are two metals. When burnt in air, X forms only

oxide while Y forms oxide and nitride. The metals X and Y may

be:

A. Ca and Mg

B. Na and Mg


https://dl.doubtnut.com/l/_gsgGo4bB25Ry
https://dl.doubtnut.com/l/_o6fWxtalt8TP

C.Li and Na

D. Na and K

Answer: B

o Watch Video Solution

73.Which of the following is an incorrect statement?

A.The heats of hydration of the dipositive alkaline earth
metal ions decrease with an increase in their ionic size

B. NaNOj forms NayO on heating

C. Hydration of alkali metal ion is less than that of IIA

group



https://dl.doubtnut.com/l/_o6fWxtalt8TP
https://dl.doubtnut.com/l/_4UWWaSgzT0om

D. Alkaline earth metal ions, because of their much larger

charge to size ratio, exert a much stronger electrostatic

attraction on the oxygen of water molecule

surrounding them

Answer: B

o Watch Video Solution

74.Which of the following statement is incorrect?

A. The atomic radius of Na is greater than that of Mg

B. Metallic bond of Mg is stronger than the metallic bond

in Na


https://dl.doubtnut.com/l/_4UWWaSgzT0om
https://dl.doubtnut.com/l/_8aw7bgyTIMBE

C. Melting and boiling point of Mg are greater than those

of Ca

D. Ma and Ca are the most abundant elements amongst

the alkaline earth metals

Answer: C

o Watch Video Solution

75. Thermal stability of MCOy is in order:

A. BeCO3 < MgCO3 < CaCO3 < SrCO3 < BaCOs

B. MgCO3 < BeCO3 < CaCO3 < SrCO3BaCOs

C.CaCO5 < SrC0O3 < BaCO3 < BeCO3 < MgCQOs

D. BaCO3 > SrCO35 > CaCO3 > MgCO3 < BeCOs5


https://dl.doubtnut.com/l/_8aw7bgyTIMBE
https://dl.doubtnut.com/l/_ZvmPAmYk5Tp0

Answer: A

O Watch Video Solution

76. Select incorrect statement about alkaline earth metals:

A. Solubility of sulphates decreases down the group

B. Solubility of hydroxides decreases down the group

C. Thermal stability of carbonates increases down the

group

D. Basic nature increases down the group

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ZvmPAmYk5Tp0
https://dl.doubtnut.com/l/_mq8YDe7zD6Ol
https://dl.doubtnut.com/l/_vclLGjg20QLY

77.In polymeric (BeCl,),,, there are:

A. Three centre four-electron bonds
B. Three centre three-electron bonds
C. two centre three-electron bonds

D. two centre two-electron bonds

Answer: A

° Watch Video Solution

78. A metal is burnt in air and the ash on moistening smells

of NH,.The metal is :

A. Na


https://dl.doubtnut.com/l/_vclLGjg20QLY
https://dl.doubtnut.com/l/_5ETNCHEAWuZs

B. Fle

C. Mg

D. Al

Answer: C

o Watch Video Solution

79. Which is not obtained when metal carbides react with

H,O?

B. CCI,CQ + HQO — CH = CH

C. Mg4C3 + H2O — C.ch =CH

D. BGQC + HQO — CH4


https://dl.doubtnut.com/l/_5ETNCHEAWuZs
https://dl.doubtnut.com/l/_phdHbMoD66Rd

Answer: A

° Watch Video Solution

80. Choose incorrect statement:

A. BeCOj is kept in the atmosphere of C'O, since, it is
least thermally stable

B. Be dissolves in alkali forming [Be(OH)4]2_

C. BeF; forms complex ion with NaF in which Be goes
with cation

D. BeF; forms complex ion with NaF in which Be goes

with anion

Answer: C


https://dl.doubtnut.com/l/_phdHbMoD66Rd
https://dl.doubtnut.com/l/_oAwOZ3lQWfA6

o Watch Video Solution

81.11A (alkaline earth metals) and 1IB (zinc family) resemble:

A. MgSO, - TH,0 is isomorphous with ZnSO, - TH,0

B. IlA and IIB cations are ont precipitated by H,.S in acidic
medium

C. both (a) and (b)

D. None of the above

Answer: A

° Watch Video Solution

82. Select the correct statement:



https://dl.doubtnut.com/l/_oAwOZ3lQWfA6
https://dl.doubtnut.com/l/_5H1fRA3mBQJO
https://dl.doubtnut.com/l/_WxGG5F7BqRtT

A.Be and Al show diagonal relationship
B. Be forms tetrahedral complexes [Be(0204)2]2_ -

C. Al forms AlF62_ , an octahedral complex

D. All are correct statements

Answer: D

° Watch Video Solution

83. Calcium imide on hydrolysis will give gas (B) which on
oxidation by bleaching powder given gas (C). Gas (C) on
reaction with magnesium gives compound (D). (D) on

hydrolysis gives again gas (B). (B), (C) and (D) are:

A. NH3, N2, M93N2


https://dl.doubtnut.com/l/_WxGG5F7BqRtT
https://dl.doubtnut.com/l/_k9gLmKPTjjgj

B. N2, NH3) MgNH
C. Ny, N,O5, Mg(NOs),

D. NH3, NOQ, Mg(N03)2

Answer: A

o Watch Video Solution

84.The compound A on heating gives a colourless gas and a
residue that

dissolved in water to obtain B. Excess of CO, is bubbled
through aqueous solution of B,C is formed which is recovered
in the solid form.

Solid C on gentle heating gives back A. The compound is:-

A. CGCOg


https://dl.doubtnut.com/l/_k9gLmKPTjjgj
https://dl.doubtnut.com/l/_J1QduTNwvVhY

B. CCL(HCO?,)2
C. N&zCOg

D. NCLHOOg

Answer: A

° Watch Video Solution

85. Which of the following statement is false?

A.The milk of magnesia used as antacid is chemically

MgO + MgCl,

B. Stability of alkali metal peroxide incease with increase

in atomic numbers


https://dl.doubtnut.com/l/_J1QduTNwvVhY
https://dl.doubtnut.com/l/_85SNjnRgmIgp

C.Hydration energy of AgF is higher than its lattice

energy

D. Anhydrous MgCl, cannot be prepared by direct

heating of MaCl, - 6H5,0

Answer: A

o Watch Video Solution

86. The more commonly used baking powder contains about
30 % NaHCOs, 20 % NaK(SO,),, 10 % Ca(H5PO,), and
40% starch. Which of the following statements is/are

correct?


https://dl.doubtnut.com/l/_85SNjnRgmIgp
https://dl.doubtnut.com/l/_wAgaCGfeWO2V

A.Ca(H5POQOy,) is acidic and when moistened it reacts
with NaHCO, evolving CO, gas

B. NaAl(SO,), shows down the decomposition reaction
of NaHCOj so that C'O, is evolved more slowly.

C. NaAl(SOy), is acidic and when moistened it reacts
with NaHCO3 evolving CO,

D. Both (a) and (b)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wAgaCGfeWO2V

1. Dilute solutions of alkali metals in liquid NHj are blue. It is
the ammoniated electron which is responsible for the blue
colour of the solution, and the electrical conductivity is due
to the ammoniated cation, [M(NHs),] " as well as the
ammoniated electrons, {e(NH;»,)y} ~, values of x and y
depend on the extent of solvation (by N Hj). Dilute solutions
are paramagnetic due to free electrons.

What happens if alkali metals is allowed to react with

concentrated liquid ammonia?
A.Paramagnetic character of solvated electrons s
retained
B. Solvated electrons associate to form electron-pairs and

paramagnetic character decrease

C. Reducing character is increased


https://dl.doubtnut.com/l/_tzmCWTqo5orD

D. Reducing character is not affected

Answer: B

° Watch Video Solution

2. All alkali metals dissolve in anhydrous liquid ammonia to
give blue colour solution. It is the ammoniated electron
which is reponsible for the blue colour of the solution, and
the electrical conductivity is due to the ammoniated cation,
[M(NH3),] " as well as the ammoniated electron,
|:€(NH3)y] ~, value of x and y depend on the extent of
solvation by NHj. Dilute solutions are paramagnetic due to
free ammoniated electrons.

Q. Which of the following statement about solution of alkali

metals in liquid ammonia is correct?


https://dl.doubtnut.com/l/_tzmCWTqo5orD
https://dl.doubtnut.com/l/_U4FIc8buBAgO

A. The solution has strong oxidizing properties

B. Both the dil. Solution as well as conc. Solution are

equally paramagnetic in nature

C.Charge transfer is responsible for the colour of the

solution

D. None of these

Answer: D

o Watch Video Solution

3. All alkali metals dissolve in anhydrous liquid ammonia to
give blue colour solution. It is the ammoniated electron
which is reponsible for the blue colour of the solution, and

the electrical conductivity is due to the ammoniated cation,


https://dl.doubtnut.com/l/_U4FIc8buBAgO
https://dl.doubtnut.com/l/_HcqVnRAZOa5M

|M(NH3), ] " as well as the ammoniated electron,
|:€(NH3)y:| ~, value of x and y depend on the extent of
solvation by NHj. Dilute solutions are paramagnetic due to
free ammoniated electrons.

Q. Ammoniated solutions of alkali metals are reducing agents
due to the presence of free ammoniated or solvated
electrons that can reduce:

(002t003~ () K3 [Ni(CN),] to K,;[Ni(CN),]

(1) Aromatic ring (IV) Non-terminal alkyne

Choose the correct code:

A.lll and IV
B. Il and lIl
C.LIL N and IV

D.l, Il and IV


https://dl.doubtnut.com/l/_HcqVnRAZOa5M

Answer: C

° Watch Video Solution

H,0 CO, SO, NayS/I,
4, Na 5 s C S

Ag™* /Sa<

/4

(complex)

Q. The compounds B and C is

A. NCI,2003, Na2804

B. NG,H003, Na2504

C. Na2003, NCLgSOg

D. None of these

Answer: C

4

o Watch Video Solution



https://dl.doubtnut.com/l/_HcqVnRAZOa5M
https://dl.doubtnut.com/l/_1KzmdeKGRNnk

NCLQS/IZ
\

Ag™ /Sa<

(complex)

Q. The compound D is

A NCL2504

B. NCI,25406

C. NCLQSOg

D. Na2S203

Answer: D

)

o Watch Video Solution



https://dl.doubtnut.com/l/_1KzmdeKGRNnk
https://dl.doubtnut.com/l/_Rex2qh4eZddd

H,0 CO, SO, NayS/I, D Agt [Sa<

6. Na A y s C p

4

(complex)

Q. Oxidation number of each 'S' atom in compound D:

A +2, +2

B.+4,0

C.+6, — 2

D.+5, — 1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_W4Aqe49R4rGE

Ma HPO,
Metal + dil HQl -, 4 2 2%+ B (white ppt.)
1
HCHg)| Heared
i
Electrolyss in

¢ presence of NaGl

Metal (M)

7.

Q. The compound A'is :

A . CaCls - 2H50

B. MgClz - 6H>0

C. NasSO4 - 10H,0O

D.CaSOy4 - 2H50

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ub2nKBvH6vQc

Metal + dil. H NaHPO, i
a— A NH ,OF B (white ppt.)

HCl(g)| Heated

Electrolysis ity tecal (M)

¢ presence of NaCl

8.

Q. The compound B is :
A.Mg(NH4) POy
C. Na(NH4)HPO4

D. Both (a) and (b)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_lmYvuLTQWTvW

Metal + dil. HQl — A H—;Hﬁ% B (white ppt.)

HCl(g)| Heated
Electrolysis in

C ~viedl Metal (M)

o.

Q. The compound C and metal M are:

A. NaCl, Na

B.CaCls, Ca

C. MgCls, Mg

D. BeCly, Be

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3xNsy7KhGakp

10. Calcium sulphate is found in nature in two forms,
anhydrous calcium sulphate and hydrated calcium sulphate.
When anhydrous calcium sulphate is heated with coke,
sulphur dioxide gas is obtained. When hydrated calcium
suphate is heated to 200° C, it forms anhydrous salt.
Q. The anhydrous calcium sulphate is called :

A. gypsum

B. anhydrite

C. plaster of paris

D.lime

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YDdDLykKrniN
https://dl.doubtnut.com/l/_Sf9LRNG53hmu

11. Mix calcium sulphate with conc. HCl and forms a paste.

Bring a pinch of this paste near to the flame, what colour will

you obtain?

A. golden yellow

B. brick red

C. crimson red

D. apple green

Answer: C

o Watch Video Solution

12. Calcium sulphate is found in nature in two forms,

anhydrous calcium sulphate and hydrated calcium sulphate.


https://dl.doubtnut.com/l/_Sf9LRNG53hmu
https://dl.doubtnut.com/l/_7fmAMwKFxON2

When anhydrous calcium sulphate is heated with coke,
sulphur dioxide gas is obtained. When hydrated calcium
suphate is heated to 200° C, it forms anhydrous salt.
Q. What is the product formed when hydrated CaSO;, is
heated to 125° C instead of 200° C?

A. (CaSO04),H,0

B. CaSO4%H20

C. CCLSO4

D. CaO + SOg

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7fmAMwKFxON2

13. Sodium sulphite (NaySO3) is added to meat as a
preservative. The presence of NaySO3 can be detected by
adding dil. H,SO,4 when the pungent smelling gas evolved
turns the lime water milky. The gas evolved was detected as
sulphur dioxide. The SO, to SOi_ in titration.

SOy + 2H,0 + I, — 4H* + SO>~ + 21~

In order to check the results of titration, excess barium
chloride is added to the final solution. The resulting
precipitate is collected and weighed.

Q. S0, gas is used as bleaching agent. Its bleaching action is

A. temporary and due to its oxidizing nature
B. temporary and due to its reducing action

C. permanent and due to its oxidizing nature


https://dl.doubtnut.com/l/_gSsKqCrNBuji

D. permanent and due to its reducing action

Answer: B

° Watch Video Solution

14. Sodium sulphite (Na3SOj3) is added to meat as a
preservative. The presence of NayS0O, can be detected by
adding dil. H,504 when the pungent smelling gas evolved
turns the lime water milky. The gas evolved was detected as
sulphur dioxide. The SO, to SOZ_ in titration.

SO, +2H,0 + I, - 4H* + SO?™ + 21~

In order to check the results of titration, excess barium
chloride is added to the final solution. The resulting

precipitate is collected and weighed.


https://dl.doubtnut.com/l/_gSsKqCrNBuji
https://dl.doubtnut.com/l/_FTAeNjcvWPbZ

Q. Which of the following compounds is formed, when

NayS0s5 is boiled with sulphur.

A. N(ZQSO4

B. NG,QS4O5

C. Na25406

D. NCLQS403

Answer: D

° Watch Video Solution

15. On treatment with cold wate, element (A) reacted quietly,
librating colourless gas (B) and solution ( C). Lithium reacted
with gas (B) and giving a solid product (D) which gave

effervesence with water to give basic solution (E). When CO,


https://dl.doubtnut.com/l/_FTAeNjcvWPbZ
https://dl.doubtnut.com/l/_uwTV4dP3fRzK

was passed thorough solution ( C), an initial whit ppt (F) was
formed but this redissolved forming solution (G) when more
CO, was passed. PPT (F) effervessced when moistened to

Bunsen flame. (F) on heating wiith excess of carbon at
2000° C gave (H):
Metal A may be:

A. Be

B.Ca

C. Mg

D. Ba

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_uwTV4dP3fRzK

16. On treatment with cold water, an element (A) reacts
readily liberating a colourless, odourless gas (B) and a
solution (C). Lithium is reacted with (B) yeildng a solid
product (D) which effervesce with water to give a strongely
basic solution (E). When CQO, gas is bubbled through
solution (C), a white ppt. (F) is formed but this redissolved
forming solution (G) when more C'O, is passed. Precipitate
(F) effervesced when moistened with conc. HCl and give deep
red colouration to Bunsen burner flame. (F) on heating with
excess of carbon at 2000° C give (H).

Answer the following question on the basis of above passage.
Q. Solution (G) contains a salt which

(i) causes permanent hardness of water

(ii)can not be obtained in solid state

(iii)causes temporary hardness of water


https://dl.doubtnut.com/l/_054Idx2dTTB5

(iv)can be obtained in solid state

Select the correct statements :

A. (i) and (ii)

B. (i) and (iv)

C. (ii) and (iii)

D. (i1) and (iv)

Answer: C

o View Text Solution

17. On treatment with cold water, an element (A) reacts
readily liberating a colourless, odourless gas (B) and a
solution (C). Lithium is reacted with (B) yeildng a solid

product (D) which effervesce with water to give a strongely


https://dl.doubtnut.com/l/_054Idx2dTTB5
https://dl.doubtnut.com/l/_Ufo0XJTyNGvL

basic solution (E). When CO, gas is bubbled through
solution (C), a white ppt. (F) is formed but this redissolved
forming solution (G) when more C'O, is passed. Precipitate
(F) effervesced when moistened with conc. HCl and give deep
red colouration to Bunsen burner flame. (F) on heating with
excess of carbon at 2000° C give (H).

Answer the following question on the basis of above passage.
Q. Solid (H) on hydrolysis gives a gas which on passing

through ammoniated AgINOj solution yields:

A. white ppt.

B. red ppt.

C.no ppt.

D. brown ppt.

Answer: A

r 1


https://dl.doubtnut.com/l/_Ufo0XJTyNGvL

| o View Text Solution

18. Lithium only forms monoxide when heated in oxygen.
Sodium forms monoxide and peroxide in excess of oxygen.
Other alkali metals form superoxide metals superoxide with
oxygen i.e, MO,. The abnormal behaviour of lithium is due
to small size. The larger size of higher metals also decides the
role in formation of superoxide. All the three anions abstract
proton from water. The three anions are raleted to each

other as follows:

1
_02 O
_ 2 _ 2 _
05 — 057 — 20,
peroxide ion superoxide ion
oxide ion

Q. Consider the following reaction :
M+ Oy — MO,

(M=alkali metal) (stable superoxide)


https://dl.doubtnut.com/l/_Ufo0XJTyNGvL
https://dl.doubtnut.com/l/_IoWk1CEISSms

A. M can not be Li and Na

B. M can not be Cs and Rb

C. M can not be Li and Rb

D. None of these

Answer: A

° Watch Video Solution

19. Lithium only forms monoxide when heated in oxygen.
Sodium forms monoxide and peroxide in excess of oxygen.
Other alkali metals form superoxide metals superoxide with
oxygen i.e, MO,. The abnormal behaviour of lithium is due
to small size. The larger size of higher metals also decides the

role in formation of superoxide. All the three anions abstract


https://dl.doubtnut.com/l/_IoWk1CEISSms
https://dl.doubtnut.com/l/_LsP665boMDXI

proton from water. The three anions are raleted to each

other as follows:

1
_02 1o)
_ 2 _ 2 _
peroxide ion superoxide ion
oxide ion

Q. Which anion is stable towards water:

A O*~
B.O;~
C.0;

D. None of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_LsP665boMDXI

20. Lithium only forms monoxide when heated in oxygen.
Sodium forms monoxide and peroxide in excess of oxygen.
Other alkali metals form superoxide metals superoxide with
oxygen i.e., MO,. The abnormal behaviour of lithium is due
to small size. The larger size of higher metals also decides the
role in formation of superoxide. All the three anions abstract
proton from water. The three anions are raleted to each

other as follows:

1
_O2 0
o 2 _ 2 _
0" — 03 — 20,
peroxide ion superoxide ion
oxide ion

Q. Which compounds will liberate oxygen when reacts with

ice cold water?

A. Na202

B. KO,

C. Na20


https://dl.doubtnut.com/l/_NrRnIsRLsSah

D. 08202

Answer: B

° Watch Video Solution

21. Lithium only forms monoxide when heated in oxygen.
Sodium forms monoxide and peroxide in excess of oxygen.
Other alkali metals form superoxide metals superoxide with
oxygen i.e, MO,. The abnormal behaviour of lithium is due
to small size. The larger size of higher metals also decides the
role in formation of superoxide. All the three anions abstract
proton from water. The three anions are raleted to each

other as follows:

1
_02 O
_ 2 _ 2 _
05 — 057 — 20,
peroxide ion superoxide ion
oxide ion


https://dl.doubtnut.com/l/_NrRnIsRLsSah
https://dl.doubtnut.com/l/_Lf8MUcIUfqgo

Q. In hydrolysis, the alkali metals oxides, peroxide and

superoxide act as:

A. Bronsted acid

B. Bronsted base

C. Lewis acid

D. Lewis base

Answer: B

o Watch Video Solution

22. Most metal oxide are thermally stable at temperature
upto 1000° C but the oxide of metals below hydrogen in the
electrochemical series fairly. Thus HgO and Ag,O

decomposes on heating.


https://dl.doubtnut.com/l/_Lf8MUcIUfqgo
https://dl.doubtnut.com/l/_9q0UEQimWSrx

Q. Which of the following salt salt does not give NO, gas on
heating?

A. Pb(NOs),

B. Zn(N03)2

D. KNO;

Answer: D

o Watch Video Solution

23. Most metal oxide are thermally stable at temperature
upto 1000° C but the oxide of metals below hydrogen in the
electrochemical series fairly. Thus HgO and Ag,O

decomposes on heating.


https://dl.doubtnut.com/l/_9q0UEQimWSrx
https://dl.doubtnut.com/l/_VhldCu0jdLlK

Q. Which of the following compound cannot be thermally
decomposed even at high temperature?

A CSHCOg

B. RbyCO5

C. Li,CO3

D.(NH,),COs3

Answer: B

o Watch Video Solution

24. Most metal oxide are thermally stable at temperature
upto 1000° C but the oxide of metals below hydrogen in the
electrochemical series fairly. Thus HgO and Ag,O

decomposes on heating.


https://dl.doubtnut.com/l/_VhldCu0jdLlK
https://dl.doubtnut.com/l/_Vo6thnp152wl

Q. Correct code for following thermal decomposition
reaction(s) evolving gas having equal number of
o — and m — bonds s :

(i)BeCOs —6> (i) ZnS0Oy —6>
v<800°C

300°C 0
(i) F'eSOy — (iV)(NH3)2C7“207  —

Al
B. i, iii, iv
C. i, 1, i

D. All of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Vo6thnp152wl

25. All alkali metals dissolve in anhydrous liquid ammonia to
give blue colour solution. It is the ammoniated electron
which is reponsible for the blue colour of the solution, and
the electrical conductivity is due to the ammoniated cation,
|[M(NH3), ] " as well as the ammoniated electron,
[e(NHg,)y] ~, value of x and y depend on the extent of
solvation by INHj. Dilute solutions are paramagnetic due to
free ammoniated electrons.

Q. What happens if more alkali metals is allowed to react with

concentrated liquid ammonia?
A. Paramagnetic character of solvated electrons is
retained

B. Solvated electrons associate to form electron-pairs and

paramagnetic character decrease


https://dl.doubtnut.com/l/_rMNyUsLHWO7S

C. Reducing character is increased

D. Reducing character is not affected

Answer: B

° Watch Video Solution

26. All alkali metals dissolve in anhydrous liquid ammonia to
give blue colour solution. It is the ammoniated electron
which is reponsible for the blue colour of the solution, and
the electrical conductivity is due to the ammoniated cation,
[M(NH3),] " as well as the ammoniated electron,
|:€(NH3)y] ~, value of x and y depend on the extent of

solvation by NHj. Dilute solutions are paramagnetic due to

free ammoniated electrons.


https://dl.doubtnut.com/l/_rMNyUsLHWO7S
https://dl.doubtnut.com/l/_fUWBdIvfjPiF

Q. Which of the following statement about solution of alkali

metals in liquid ammonia is correct?

A. The solution have strong oxidizing properties

B. Both the dil. Solution as well as conc. Solution are

equally paramagnetic in nature

C. Charge transfer is responsible for the colour of the

solution

D. None of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_fUWBdIvfjPiF

27. All alkali metals dissolve in anhydrous liquid ammonia to
give blue colour solution. It is the ammoniated electron
which is reponsible for the blue colour of the solution, and
the electrical conductivity is due to the ammoniated cation,
|[M(NH3), ] " as well as the ammoniated electron,
|:€(NH3)y:| ~, value of x and y depend on the extent of
solvation by INHj. Dilute solutions are paramagnetic due to
free ammoniated electrons.

Q. Ammoniated solutions of alkali metals are reducing agents
due to the presence of free ammoniated or solvated
electrons that can reduce:

(002t003~ () K3 [Ni(CN),] to K,[Ni(CN),]

(1) Aromatic ring (IV) Non-terminal alkyne

Choose the correct code:

A.lll and IV


https://dl.doubtnut.com/l/_tyz4eDBbgwe1

B. Il and lIl

C.L, I, 1 and IV
D.I, Il and IV
Answer: C

o Watch Video Solution

H,0 0, SO,
28. Na s A s B 5

NGQS/IQ
\
/4

Ag™ /Sa<

(complex)

Q. The compounds B and C is

A. Na2003, Na2SO4

B. N(ZHCO?,, NCL2SO4

C. NaQCOg, NCL2503

)

I



https://dl.doubtnut.com/l/_tyz4eDBbgwe1
https://dl.doubtnut.com/l/_W2qT6Lff04op

D. None of these

Answer: C

° Watch Video Solution

H,0 0, SO,
29. Na s A s B 5

NCLQS/IQ
\
/4

Ag* /Sa<

(complex)

Q. The compound D is

A. Na2SO4

B. NayS40¢

C. Na2S'203

D. N(ZQSQO?,

Answer: D

)

7



https://dl.doubtnut.com/l/_W2qT6Lff04op
https://dl.doubtnut.com/l/_AaV8Hf8EqRik

o Watch Video Solution

H,0 CO, SO, NayS/I, D Agt [Sa<

30. Na A s B s C p

4

(complex)

Q. Oxidation number of each 'S' atom in compound D:

A +2, 42

B.+4,0

C.+6, — 2

D.+5, — 1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AaV8Hf8EqRik
https://dl.doubtnut.com/l/_wBA0J0oRSAqF

Metal + dil. HQl - NaAPO,
— A NH,OH —+ B (white ppt.)

HClg)| Heated

Electrolyss in

¢ presence of NaGl

Metal (M)

31.

Q. The compound A'is :

A. CaCly - 2H50

B. MgClz - 6H>0

C. NasSO4 - 10H,0O

D.CaSOy4 - 2H50

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_iFHlzDshRL56

Metal + dil. H NaHPO, i
a— A NH O B (white ppt.)

HCl{g)| Heated

Electrolysis I ytecal (M)

¢ presence of NaCl

32.

Q. The compound B is :
A. Mg(NH4) POy
C. Na(NH4)HPO4

D. Both (a) and (b)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NGTC2IS3Kjr7

Metal + dil. HCl — A "_;Hﬁ%. B (white ppt.)

HCl(g)| Heated
Electrolysis in

C ~viadl Metal (M)

33.

Q. The compound C and metal M are:

A. NaCl, Na

B. CaCl2, Ca

C. MgCls, Mg

D. BeCly, Be

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_drT0IgvIBOm9

34. Calcium sulphate is found in nature in two forms,
anhydrous calcium sulphate and hydrated calcium sulphate.
When anhydrous calcium sulphate is heated with coke,
sulphur dioxide gas is obtained. When hydrated calcium
suphate is heated to 200° C, it forms anhydrous salt.
Q. The anhydrous calcium sulphate is called :

A. gypsum

B. anhydrite

C. plaster of paris

D.lime

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_M799a01BUenL
https://dl.doubtnut.com/l/_ndggbZRdEspV

35. Calcium sulphate is found in nature in two forms,
anhydrous calcium sulphate and hydrated calcium sulphate.
When anhydrous calcium sulphate is heated with coke,
sulphur dioxide gas is obtained. When hydrated calcium
suphate is heated to 200° C, it forms anhydrous salt.

Q. When calcium sulphate is mixed with conc. HCl and the
paste is formed. What colour is obtained wehn a pinch of this

paste is brought near the flame?

A. golden yellow

B. brick red

C. crimson red

D. apple green

Answer: C

| nlnl,l I w1 ~~ 1 n®


https://dl.doubtnut.com/l/_ndggbZRdEspV

I ™ Vvald video o01uLion )

36. Calcium sulphate is found in nature in two forms,
anhydrous calcium sulphate and hydrated calcium sulphate.
When anhydrous calcium sulphate is heated with coke,
sulphur dioxide gas is obtained. When hydrated calcium
suphate is heated to 200° C, it forms anhydrous salt.

Q. What is the product formed when hydrated CaSO;, is

heated to 125° C instead of 200° C?

A. (CaS0,),H,0
3

B. CCLSO4 ZHZO

C. CCLSO4

D.CaO + SOg

Answer: A


https://dl.doubtnut.com/l/_ndggbZRdEspV
https://dl.doubtnut.com/l/_XHEBGjoGDEDX

° Watch Video Solution

37. Sodium sulphite (NaySO3) is added to meat as a
preservative. The presence of NaySO, can be detected by
adding dil. H,S0O4 when the pungent smelling gas evolved
turns the lime water milky. The gas evolved was detected as
sulphur dioxide. The SO, to SOi_ in titration.

SO, +2H,O + I, - 4H* + SO~ + 21

In order to check the results of titration, excess barium
chloride is added to the final solution. The resulting
precipitate is collected and weighed.

Q. SO, and COy both lime water milky. Which of the
following reagent can be used to distinguish these two
gases?

(|)K20’I"207/H2504 (||)KMTI,O4/H+ (|||)I2 solution


https://dl.doubtnut.com/l/_XHEBGjoGDEDX
https://dl.doubtnut.com/l/_w453XpCTaNDz

A. 1L 11, 1T correct

B. I. lll only correct

C. 1, Nl only correct

D. lll only correct

Answer: A

° Watch Video Solution

38. Sodium sulphite (NaySO;3) is added to meat as a
preservative. The presence of NaySO, can be detected by
adding dil. H,S0O4 when the pungent smelling gas evolved
turns the lime water milky. The gas evolved was detected as
sulphur dioxide. The SO, to SOi_ in titration.

SO, + 2H,0 + T, — 4H" + SO2~ 4 21~


https://dl.doubtnut.com/l/_w453XpCTaNDz
https://dl.doubtnut.com/l/_WOKvmyLRtoQt

In order to check the results of titration, excess barium
chloride is added to the final solution. The resulting
precipitate is collected and weighed.

Q. SO, gas is used as bleaching agent. Its bleaching action is

A. temporary and due to its oxidizing nature

B. temporary and due to its reducing action

C. permanent and due to its oxidizing nature

D. permanent and due to its reducing action

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_WOKvmyLRtoQt

39. Sodium sulphite (Na3SO3) is added to meat as a
preservative. The presence of NaySO, can be detected by
adding dil. H,SO,4 when the pungent smelling gas evolved
turns the lime water milky. The gas evolved was detected as
sulphur dioxide. The SO, to SOi_ in titration.

SOy +2H,0 + I, — 4H* + SO2~ + 21~

In order to check the results of titration, excess barium
chloride is added to the final solution. The resulting
precipitate is collected and weighed.

Q. Which of the following compounds is formed, when

NayS0s5 is boiled with sulphur.

A. NCLQSO4
B. NG,QS4O5

C. Na25406


https://dl.doubtnut.com/l/_Z2WDKAydZlUm

D. NCLQS403

Answer: D

° Watch Video Solution

40. On treatment with cold water, an element (A) reacts
readily liberating a colourless, odourless gas (B) and a
solution (C). Lithium is reacted with (B) yeildng a solid
product (D) which effervesce with water to give a strongely
basic solution (E). When CO, gas is bubbled through
solution (C), a white ppt. (F) is formed but this redissolved
forming solution (G) when more C'O, is passed. Precipitate
(F) effervesced when moistened with conc. HCl and give deep
red colouration to Bunsen burner flame. (F) on heating with

excess of carbon at 2000° C give (H).


https://dl.doubtnut.com/l/_Z2WDKAydZlUm
https://dl.doubtnut.com/l/_XBiLPrH33ekk

Answer the following question on the basis of above passage.

Q. Metal (A) may be :

A. Be

B.Ca

C.Mg

D. Ba

Answer: B

o Watch Video Solution

41. On treatment with cold water, an element (A) reacts
readily liberating a colourless, odourless gas (B) and a
solution (C). Lithium is reacted with (B) yeildng a solid

product (D) which effervesce with water to give a strongely


https://dl.doubtnut.com/l/_XBiLPrH33ekk
https://dl.doubtnut.com/l/_KqkVk88KeVZN

basic solution (E). When CQOs gas is bubbled through
solution (C), a white ppt. (F) is formed but this redissolved
forming solution (G) when more C'O, is passed. Precipitate
(F) effervesced when moistened with conc. HCl and give deep
red colouration to Bunsen burner flame. (F) on heating with
excess of carbon at 2000° C give (H).

Answer the following question on the basis of above passage.
Q. Solution (G) contains a salt which

(i) causes permanent hardness of water

(ii)can not be obtained in solid state

(iii)causes temporary hardness of water

(iv)can be obtained in solid state

Select the correct statements :

A. (i) and (ii)

B. (i) and (iv)


https://dl.doubtnut.com/l/_KqkVk88KeVZN

C. (ii) and (iii)

D. (i1) and (iv)

Answer: C

° Watch Video Solution

42. On treatment with cold water, an element (A) reacts
readily liberating a colourless, odourless gas (B) and a
solution (C). Lithium is reacted with (B) yeildng a solid
product (D) which effervesce with water to give a strongely
basic solution (E). When CO, gas is bubbled through
solution (C), a white ppt. (F) is formed but this redissolved
forming solution (G) when more CO, is passed. Precipitate
(F) effervesced when moistened with conc. HCl and give deep

red colouration to Bunsen burner flame. (F) on heating with


https://dl.doubtnut.com/l/_KqkVk88KeVZN
https://dl.doubtnut.com/l/_0omXt9MhgFJ8

excess of carbon at 2000° C give (H).
Answer the following question on the basis of above passage.
Q. Solid (H) on hydrolysis gives a gas which on passing
through ammoniated AgINOj solution yields:

A. white ppt.

B. red ppt.

C. no ppt.

D. brown ppt.

Answer: A

O Watch Video Solution

43. Lithium only forms monoxide when heated in oxygen.

Sodium forms monoxide and peroxide in excess of oxygen.


https://dl.doubtnut.com/l/_0omXt9MhgFJ8
https://dl.doubtnut.com/l/_DTOvLEpjlwPG

Other alkali metals form superoxide metals superoxide with
oxygen i.e, MO,. The abnormal behaviour of lithium is due
to small size. The larger size of higher metals also decides the
role in formation of superoxide. All the three anions abstract
proton from water. The three anions are raleted to each

other as follows:

2 — %Oz 2 02 _

peroxide ion superoxide ion
oxide ion

Q. Consider the following reaction :
M + 02 — M02
(M=alkali metal) (stable superoxide)
A. M can not be Li and Na
B. M can not be Cs and Rb

C. M can not be Li and Rb

D. None of these


https://dl.doubtnut.com/l/_DTOvLEpjlwPG

Answer: A

° Watch Video Solution

44. Lithium only forms monoxide when heated in oxygen.
Sodium forms monoxide and peroxide in excess of oxygen.
Other alkali metals form superoxide metals superoxide with
oxygen i.e, MO,. The abnormal behaviour of lithium is due
to small size. The larger size of higher metals also decides the
role in formation of superoxide. All the three anions abstract
proton from water. The three anions are raleted to each

other as follows:

1
Lo, o
_ 2 _ P B
0~ = 020 3 20,
peroxide ion superoxide ion
oxide ion

Q. Which anion is stable towards water:


https://dl.doubtnut.com/l/_DTOvLEpjlwPG
https://dl.doubtnut.com/l/_5A4KchCarcH3

A O*~
B.O;~
C.0;

D. None of these

Answer: D

° Watch Video Solution

45, Lithium only forms monoxide when heated in oxygen.
Sodium forms monoxide and peroxide in excess of oxygen.
Other alkali metals form superoxide metals superoxide with
oxygen i.e, MO,. The abnormal behaviour of lithium is due
to small size. The larger size of higher metals also decides the

role in formation of superoxide. All the three anions abstract


https://dl.doubtnut.com/l/_5A4KchCarcH3
https://dl.doubtnut.com/l/_IWFLvSdvXuJB

proton from water. The three anions are raleted to each

other as follows:

1
_02 O
_ 2 _ 2 _
peroxide ion superoxide ion
oxide ion

Q. Which compounds will liberate oxygen when reacts with

ice cold water?

A. N(JQCOQ

B. KO,

C. N(I,QO

D. 08202

Answer: B

O Watch Video Solution



https://dl.doubtnut.com/l/_IWFLvSdvXuJB

46. Lithium only forms monoxide when heated in oxygen.
Sodium forms monoxide and peroxide in excess of oxygen.
Other alkali metals form superoxide metals superoxide with
oxygen i.e.,, MO,. The abnormal behaviour of lithium is due
to small size. The larger size of higher metals also decides the
role in formation of superoxide. All the three anions abstract
proton from water. The three anions are raleted to each

other as follows:

1
_02 0
o 2 _ 2 _
0*” — 03 — 20,
peroxide ion superoxide ion
oxide ion

Q. In hydrolysis, the alkali metals oxides, peroxide and

superoxide act as:

A. Bronsted acid

B. Bronsted base

C. Lewis acid


https://dl.doubtnut.com/l/_caCP4CBAJf2s

D. Lewis base

Answer: B

o Watch Video Solution

47. Most metal oxide are thermally stable at temperature
upto 1000° C but the oxide of metals below hydrogen in the
electrochemical series fairly. Thus HgO and Ag,O
decomposes on heating.

Q. Which of the following salt salt does not give NO, gas on

heating?

A. Pb(NO;),
B. Zn(N03)2


https://dl.doubtnut.com/l/_caCP4CBAJf2s
https://dl.doubtnut.com/l/_luAkQ9eGVsSQ

D. KNO;

Answer: D

o Watch Video Solution

48. Most metal oxide are thermally stable at temperature
upto 1000° C but the oxide of metals below hydrogen in the
electrochemical series fairly. Thus HgO and Ag,O
decomposes on heating.

Q. Which of the following compound cannot be thermally

decomposed even at high temperature?

A.CsHCOs

B. Rb,C O,

C. Li,CO4


https://dl.doubtnut.com/l/_luAkQ9eGVsSQ
https://dl.doubtnut.com/l/_aHYcCjsbKTSq

D.(NH,),COs

Answer: B

o Watch Video Solution

49. Most metal oxide are thermally stable at temperature
upto 1000° C but the oxide of metals below hydrogen in the
electrochemical series fairly. Thus HgO and Ag,O
decomposes on heating.

Q. Correct code for following thermal decomposition
reaction(s) evolving gas having equal number of
o — and m — bonds is :

() BeCOs — (ii)ZnSOy —

< 800°C

300°C 1
(ii)FeSOy — (iv)(NHy),Crs0O7 —


https://dl.doubtnut.com/l/_aHYcCjsbKTSq
https://dl.doubtnut.com/l/_QX7XO2z17LYr

A, i, il

B. i, iii, iv

C.i, i, i and IV

D. All of these

Answer: A

o Watch Video Solution

ONE OR MORE ANSWER IS/ARE CORRECT

1. The correct statement(s) is /are

A.Thermal stability of alkaline earth metal chloride

decrease with increasing molecular mass but reverse


https://dl.doubtnut.com/l/_QX7XO2z17LYr
https://dl.doubtnut.com/l/_ORA6v05W2mF7

order is true for their melting point.

B. Thermal stability of boron halides increase with

decreasing molecular mass but reverse order is true for

their melting point

C.Thermal stability of beryllium halides increase with

decreasing molecular mass and same order is also true

for their melting point

D. Thermal stability of hydra acids of halogens increase

with decreasing molecular mass and same order is also

true for their melting point

Answer: B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_ORA6v05W2mF7

2. Which of the following metal(s) in liquid NH3 with low

conc. Is not paramagnetic?

A.Cs

B. Be

C.K

D. Mg

Answer: B::D

° Watch Video Solution

3. Which of the following substance can be used directly as

feritizer?


https://dl.doubtnut.com/l/_RMbVDrLgQqut
https://dl.doubtnut.com/l/_beYVjW9roUAL

A. (NH,),S0,
B. CCL3(PO4)2
C. CCI,(H2P04)2

D. CCLCNz + C

Answer: A::B::D

o Watch Video Solution

4. Which of the following will release COy when heated to

1000° C?

A. KHCO;

B. Li,CO;

C. K,COs4


https://dl.doubtnut.com/l/_beYVjW9roUAL
https://dl.doubtnut.com/l/_IphryqSSB3Kh

D. PbCOs

Answer: A::C::D

° Watch Video Solution

5. Which of the following properties show a similar trends on

moving from Li to C's within the group

A. lonic mobility in aqueous solution

B. Reactivity towards water

C. Solubility of bromide salt

D. Thermal stability of carbonate salt

Answer: A::B::D

| o Watch Video Solution


https://dl.doubtnut.com/l/_IphryqSSB3Kh
https://dl.doubtnut.com/l/_JroVTDx4y8mP

6. The alkali metals

A. form salt like ionic hybrides

B. posses low ionisation potential

C. have high affinity for non-metals

D. have low density

Answer: A::B::C::D

O Watch Video Solution

7. NaNOs on heating gives

A. O,


https://dl.doubtnut.com/l/_JroVTDx4y8mP
https://dl.doubtnut.com/l/_NomfckxVJ6eI
https://dl.doubtnut.com/l/_IhbqttTaXbvp

B. NO,

C. Oy + NOs

D. NCLNOQ

Answer: A::D

o Watch Video Solution

8. Which of the following statement is/are true?

A. All alkali metals are soft and can be cut with knife

B. Alkali metals do not occur in free state in nature

C. Alkali metals are highly electropositive elements

D. Alkali metal hybrides are covalent in character


https://dl.doubtnut.com/l/_IhbqttTaXbvp
https://dl.doubtnut.com/l/_JPmiPKPzOsUK

Answer: A::B::C

° Watch Video Solution

9. Nitrogen dioxide cannot be obtained by heating:

A.KNO,
B. LiNO;
C. Pb(NO;),

D. NCLNOg

Answer: A::D

o Watch Video Solution



https://dl.doubtnut.com/l/_JPmiPKPzOsUK
https://dl.doubtnut.com/l/_cDVASvzUvwLa

10. Select the incorrect statement(s):

A.Cs™ is more hydrated than the other alkali metal ions

B. Among the alkali metals Li, Na, K and Rb, lithium has
the highest melting point

C. lonic mobility of Li ™ is maximum among alkali metal
cations

D. lonisation potential of Lz is lower than that of Na

Answer: A::C::D

° Watch Video Solution

11. Select the correct statement(s):


https://dl.doubtnut.com/l/_yUiAjphUyu15
https://dl.doubtnut.com/l/_9c7FfBe5g7aZ

A.Sodium can be prepared by electrolysis aqueous

solution of NaCl

B. Sodium can be prepared by electrolysing fused Nacl

C.Sodium is a strong agent

D. Sodium is soluble in liquid ammonia

Answer: B::D

o Watch Video Solution

12. Identify the correct statement(s):

A. Sodium carbonate on heating evolves carbon dioxide
B. Sodium nitrate on heating evolves nitrogen dioxide

C. Sodium hydroxide does not decompose on heating


https://dl.doubtnut.com/l/_9c7FfBe5g7aZ
https://dl.doubtnut.com/l/_mWfJ8eVsWrN4

D. Sodium bicarbonate on heating evolve carbon dioxide

Answer: C::D

o Watch Video Solution

13. Which statements are false?

A. Manufacture of NaOH is done by Solvay process

B. Manufacture of K,COj is done by Solvay process

C. Manufacture of NaOH is done by Castner Keliner

process

D. Manufacture of NaHCOj is done by Solvay process

Answer: A::B



https://dl.doubtnut.com/l/_mWfJ8eVsWrN4
https://dl.doubtnut.com/l/_uYkR45buJRCh

l @ yvatcn viaeo >oilution

14. Sulphate salt gives metal

1
SO?,( or SOy + 502) on heating:

A K»,50,
B. CCLSO4
C. MQSO4

D. (NH,),S0,

Answer: B::C

oxide

and

o Watch Video Solution



https://dl.doubtnut.com/l/_uYkR45buJRCh
https://dl.doubtnut.com/l/_U5tKCvQy2GbV

15. The correct statement about sodium and its compounds

would include that:

A. Sodium forms an ionic hydride NaH

B. Sodium nitrate decomposes to the nitrite on heating

C.Sodium is hard metal

D. Sodium carbonate decomposes readily on heating

Answer: A::B

O Watch Video Solution

16. NaH reacts with water to give:

A. alkaline solution


https://dl.doubtnut.com/l/_xPiPEbTsuzTp
https://dl.doubtnut.com/l/_uzZJRzL2tHEQ

B. acidic solution

C. neutral solution

D. hydrogen gas

Answer: A::D

o Watch Video Solution

17. Which of the following statement(s) is/are incorrect?

A. Magnesium may by extracted by self reduction method

B. Down's Cell process is used to extract magnesium from

sea water

C. Magnalium is an alloy of magnesium

D. Formula of Epsom salt is M ¢SO, - 6H,O


https://dl.doubtnut.com/l/_uzZJRzL2tHEQ
https://dl.doubtnut.com/l/_O0vFrhA4YxL6

Answer: A::B::D

° Watch Video Solution

18. Identify the incorrect statement(s):

A. Density of Mg is less than Ca

B. The atomic radius of Mg is greater than that of Ca

C. Mg alloys are used in the contruction of air crafts

D. Mg is used as a reducing agent

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_O0vFrhA4YxL6
https://dl.doubtnut.com/l/_FHdcgBLX5DVO

19. Which of the following properties of the elements of

group Il (alkali earth metals) increase (s) with increasing

atomic number?

A. Stability of carbonate

B. Solubility of hydroxide

C. Reactively with water

D. First ionization energy

Answer: A::B::C

° Watch Video Solution

20. Select the wrong statement(s):


https://dl.doubtnut.com/l/_8Vkk2thFQO8F
https://dl.doubtnut.com/l/_xi9GKpneXJ5Y

A. CaF) is soluble in water
B. BaSQOy is soluble in water
C. Be(OH), is soluble in water

D. MgS0y is soluble in water

Answer: A::B

o Watch Video Solution

21. Which of the following statements about the elements,

Mg, Ca, Sr and Ba and their compounds is true?

A.Solubility of the hydroxides in water increase with

increasing atomic number


https://dl.doubtnut.com/l/_xi9GKpneXJ5Y
https://dl.doubtnut.com/l/_kEmJSlPDJUtG

B. Thermal stability of the carbonates increase with

increasing atomic number

C. All given elements react with water or steam to give

hydrogen

D. Metal chloride are all ligiuds at room temperature

Answer: A::B::C

o Watch Video Solution

22. Which of the following does/do not impart characteristic

colour to the flame?

A. MgSO4

B. CaCl,


https://dl.doubtnut.com/l/_kEmJSlPDJUtG
https://dl.doubtnut.com/l/_bdyhj4vAoUYC

C. S’T’(NO3)2

D. B@Cl2

Answer: A::D

o Watch Video Solution

23. Which statements is correct regarding the diagonal

relationship between the Al and Be?

A. BeO and Al;O3 are amphoteric in nature

B. Both carbide on hydrolysis produce same gas

C. Both can form complex

D. Both have nearly close m.p.

Answer: A::B::C


https://dl.doubtnut.com/l/_bdyhj4vAoUYC
https://dl.doubtnut.com/l/_1BMCsUVYMaY3

o Watch Video Solution

24. Which of the following metals on treatement with alkali

will liberate H, gas?

A. Be

B.Sn

C.Ga

D.In

Answer: A::B::C

° Watch Video Solution

25. Choose the correct statement(s):


https://dl.doubtnut.com/l/_1BMCsUVYMaY3
https://dl.doubtnut.com/l/_Rk8PpXIiEYoe
https://dl.doubtnut.com/l/_FQPKlKdhGBU1

A. BeCOs is kept in the atmosphere of C'O, since, it is
least thermally stable

B. Be dissolves in alkali forming [Be(OH)4]2_

C. BeF, forms complex ion with NaF in which Be goes
with cation

D. BeF, forms complex ion with NaF in which Be goes

with anion

Answer: A::B::D

o Watch Video Solution

26. Select the incorrect statement(s):


https://dl.doubtnut.com/l/_FQPKlKdhGBU1
https://dl.doubtnut.com/l/_EPmHoZ9jXJaw

A. Magnesium can be burnt in the atmosphere of

COQ and SOQ

B. Magnesium reacts with alkyl halides to form Grignard's

reagent

C.Out of Mg and Ca, only Mg reacts with N, to form

magnesium nitride

D. Calcium is less reactive than magnesium

Answer: C::D

o Watch Video Solution

27. Which of the following statement(s) is/are incorrect?


https://dl.doubtnut.com/l/_EPmHoZ9jXJaw
https://dl.doubtnut.com/l/_tTeMBJLXbsr2

A. Sodium bicarbonate is more soluble than sodium

carbonate

B. Sodium hydroxide is known as caustic soda

C. Sodium bicarbonate is used as antacid

D. Sodium nitrate is used in the manufacture of soaps

Answer: D

o Watch Video Solution

28. Select the incorrect statement(s):

A. KOH is a weaker base than NaOH

B. Milk of magnesia is an aqueous solution of Mg(OH),


https://dl.doubtnut.com/l/_tTeMBJLXbsr2
https://dl.doubtnut.com/l/_51hTTutNuQCW

C.Mg*" ions are precipitated with the addition of

NH,OH in the presence of NH,Cl

D. CaQy is less stable than MgO,

Answer: A::C::D

o Watch Video Solution

29. Which of the following statements regarding the oxides

of alkali and alkaline earth metals is correct?

A. The reactivity of K,O towards water is more than that

of Na,gO

B. The oxides of alkaline earth metals are more basic than

those of alkali metals


https://dl.doubtnut.com/l/_51hTTutNuQCW
https://dl.doubtnut.com/l/_vOHvgVGc8LXd

C.MgO is used as a refractory material for lining of

electric furnaces

D.The milk of lime and lime water are two different

solutions

Answer: A::C::D

o Watch Video Solution

30. The pair of compounds which can exist together in

aqueous solution is

A. NayCO3 and NaHCOs;

B. NaHCO3 and NaOH

C. NaOH and NaH,PO,


https://dl.doubtnut.com/l/_vOHvgVGc8LXd
https://dl.doubtnut.com/l/_2V0G9JPIB0ZM

D. NaOH + NaHPO;

Answer: B::C

° Watch Video Solution

31. Which of the following are soluble in water?

A. NCI,QCO:),
B. Ba0204
C. MgCOg

D. Ca(NO3)2

Answer: A::D

o Watch Video Solution



https://dl.doubtnut.com/l/_2V0G9JPIB0ZM
https://dl.doubtnut.com/l/_1kXGArv1RIPk

32. Which of the following salts exis (s) as decahydrated

crystals?

A. Washing soda

B. Glauber's salt

C. Epson salt

D. Grypsum salt

Answer: A::B

° Watch Video Solution

33. Which of statements are true?

A.NaHCO3 and KHCO3 have same crystal structure


https://dl.doubtnut.com/l/_aSnjOtaLFD2W
https://dl.doubtnut.com/l/_zyQpdonL3oU6

B. On heating LiNO3 decomposes into LioOanCO,

C. Among alkali metals, Li metal impart red colour flame

D. Li3 S0, does not form alum

Answer: B::D

o Watch Video Solution

34.The correct statement(s) is /are

A.Thermal stability of alkaline earth metal chloride

decreases with increasing molecular mass but reverse

order is true for their melting point.

B. Thermal stability of boron halides increase with

decreasing molecular mass but reverse order is true for


https://dl.doubtnut.com/l/_zyQpdonL3oU6
https://dl.doubtnut.com/l/_BZ8D6OWpnvE5

their melting point

C.Thermal stability of beryllium halides increase with

decreasing molecular mass and same order is also true

for their melting point

D. Thermal stability of hydra acids of halogens increase

with decreasing molecular mass and same order is also

true for their melting point

Answer: B::C

° Watch Video Solution

35. Which of the following metal(s) in liquid NHj3 with low

conc. Is not paramagnetic?


https://dl.doubtnut.com/l/_BZ8D6OWpnvE5
https://dl.doubtnut.com/l/_EgFwwzmDIjR2

A.Cs

B. Be

C.K

D. Mg

Answer: B::D

o Watch Video Solution

36. Which of the following substance can be used directly as
feritizer?

A. (NH,),S0,

B. Cag(PO4)2

C. CG(H2P04)2


https://dl.doubtnut.com/l/_EgFwwzmDIjR2
https://dl.doubtnut.com/l/_YWOvhHmmnNP7

D.CaCN, + C

Answer: A::B::D

° Watch Video Solution

37. Which of the following will release CO, when heated to

1000° C?

A. KHCO;

B. Li,COs

C. K,CO;4

D. PbCO4

Answer: A::C::D

| o Watch Video Solution


https://dl.doubtnut.com/l/_YWOvhHmmnNP7
https://dl.doubtnut.com/l/_AlcWMjkr4KbE

38. Which of the following properties show a similar trend on

moving from Li and Cs within the group?

A. lonic mobility in aqueous solution

B. Reactivity towards water

C. Solubility of bromide salt

D. Thermal stability of carbonate salt

Answer: A::B::D

° Watch Video Solution

39. The alkali metals:



https://dl.doubtnut.com/l/_AlcWMjkr4KbE
https://dl.doubtnut.com/l/_pS0lpEkuPTuX
https://dl.doubtnut.com/l/_ylRKAWsYdRFy

A. form salt like ionic hybrides

B. posses low ionisation potential

C. have high affinity for non-metals

D. have low density

Answer: A::B::C::D

° Watch Video Solution

40. On heating NaNQOj gives:

A. O,

B. NO,

C.O2 + NOy

D. NaNO2


https://dl.doubtnut.com/l/_ylRKAWsYdRFy
https://dl.doubtnut.com/l/_WJW5H8AcRoXe

Answer: A::D

° Watch Video Solution

41. Which of the following statement is/are true?

A. All alkali metals are soft and can be cut with knife
B. Alkali metals do not occur in free state in nature
C. Alkali metals are highly electropositive elements

D. Alkali metal hybrides are covalent in character

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_WJW5H8AcRoXe
https://dl.doubtnut.com/l/_qQYtkVbhaz3O

42.Nitrogen dioxide cannot be obtained by heating:

A KNO,
B. LiNO;
C. Pb(NOs),

D. NaN03

Answer: A::D

O Watch Video Solution

43. Select the incorrect statement(s):

A.Cs™ is more hydrated than the other alkali metal ions


https://dl.doubtnut.com/l/_OFIBEyeLrNNk
https://dl.doubtnut.com/l/_BE1r0093xgNL

B. Among the alkali metals Li, Na, K and Rb, lithium has

the highest melting point

C. lonic mobility of Li ™ is maximum among alkali metal

cations

D. lonisation potential of Li is lower than that of Na

Answer: A::C::D

o Watch Video Solution

44, Select the correct statement(s):

A.Sodium can be prepared by electrolysing aqueous

solution of NaCl

B. Sodium can be prepared by electrolysing fused NaCl


https://dl.doubtnut.com/l/_BE1r0093xgNL
https://dl.doubtnut.com/l/_9VLUzQnGNvv4

C.Sodium is a strong agent

D. Sodium is soluble in liquid ammonia

Answer: B::D

o Watch Video Solution

45, Identify the correct statement(s):

A. Sodium carbonate on heating evolves carbon dioxide

B. Sodium nitrate on heating evolves nitrogen dioxide

C. Sodium hydroxide does not decompose on heating

D. Sodium bicarbonate on heating evolve carbon dioxide

Answer: C::D



https://dl.doubtnut.com/l/_9VLUzQnGNvv4
https://dl.doubtnut.com/l/_UEmLCgDYNUWJ
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1
46. Sulphate salt metal oxide and 5’03( or SOy + 502)

on heating:

A K»,50,
B. CCLSO4
C. MgSO4

D. (NH,),S0,

Answer: B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_UEmLCgDYNUWJ
https://dl.doubtnut.com/l/_k2KseGK0OOYb

47. The correct statement about sodium and its compounds

would include that:

A. Sodium forms an ionic hybride NaH

B. Sodium nitrate decomposes to the nitrite on heating

C.Sodium is hard metal

D. Sodium carbonate decomposes readily on heating

Answer: A::B

o Watch Video Solution

48. NaH reacts with water to give:

A. alkaline solution


https://dl.doubtnut.com/l/_wWQcdsxGC5bP
https://dl.doubtnut.com/l/_mrWEWBcmUS37

B. acidic solution

C. neutral solution

D. hydrogen gas

Answer: A::D

o Watch Video Solution

49. Which of the following statement(s) is/are incorrect?

A. Magnesium may by extracted by self reduction method

B. Down's Cell process is used to extract magnesium from

sea water

C. Magnalium is an alloy of magnesium

D. Formula of Epsom salt in M¢SO, - 6H,0


https://dl.doubtnut.com/l/_mrWEWBcmUS37
https://dl.doubtnut.com/l/_lx5cwCYZZKbt

Answer: A::B::D

° Watch Video Solution

50. Identify the incorrect statement(s):

A. Density of Mg is less than Ca

B. The atomic radius of Mg is greater than that of Ca

C. Mg alloys are used in the contruction of air crafts

D. Mg is used as a reducing agent

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_lx5cwCYZZKbt
https://dl.doubtnut.com/l/_9McNKpLGUY31

51. Which of the following properties of the elements of

group Il (alkali earth metals) increase (s) with increasing

atomic number?

A. Stability of carbonate

B. Solubility of hydroxide

C. Reactively with water

D. First ionization energy

Answer: A::B::C

° Watch Video Solution

52. Select the wrong statement(s):


https://dl.doubtnut.com/l/_c8E9Tos9zsM6
https://dl.doubtnut.com/l/_E3LUw3E9Ngyj

A. CaF)} is soluble in water
B. BaSQOy is soluble in water
C. Be(OH), is soluble in water

D. MgS0y is soluble in water

Answer: A::B::C

o Watch Video Solution

53. Which of the following statements about the elements,

Mg, Ca, Sr and Ba and their compounds is true?

A.Solubility of the hydroxides in water increase with

increasing atomic number


https://dl.doubtnut.com/l/_E3LUw3E9Ngyj
https://dl.doubtnut.com/l/_8zCspFXMkhPh

B. Thermal stability of the carbonates increase with

increasing atomic number

C. All given elements react with water or steam to give

hydrogen

D. Metal chloride are all ligiuds at room temperature

Answer: A::B::C

o Watch Video Solution

54. Which of the following does/do not impart characteristic

colour to the flame?

A. MgSO4

B. CaCl,


https://dl.doubtnut.com/l/_8zCspFXMkhPh
https://dl.doubtnut.com/l/_wsgxhpfXHzVl

C. S’T’(NO3)2

D. BGCl2

Answer: A::D

o Watch Video Solution

55. Which statements is correct regarding the diagonal

relationship between the Al and Be?

A. BeO and Al;O3 are amphoteric in nature

B. Both carbide on hydrolysis produce same gas

C. Both can form complex

D. Both have nearly close m.p.

Answer: A::B::C


https://dl.doubtnut.com/l/_wsgxhpfXHzVl
https://dl.doubtnut.com/l/_yPBHOayg7fIS

o Watch Video Solution

56. Which of the following metals on treatment with alkali

will liberate H, gas?

A. Be

B.Sn

C.Ga

D.In

Answer: A::B::C

° Watch Video Solution

57. Choose the correct statement(s):


https://dl.doubtnut.com/l/_yPBHOayg7fIS
https://dl.doubtnut.com/l/_KRDJuI7MVSqI
https://dl.doubtnut.com/l/_clTPC6bJsGtA

A. BeCOs is kept in the atmosphere of C'O, since, it is
least thermally stable

B. Be dissolves in alkali forming [Be(OH)4]2_

C. BeF; forms complex ion with NaF in which Be goes
with cation

D. BeF; forms complex ion with NaF in which Be goes

with anion

Answer: A::B::D

o Watch Video Solution

58. Select the incorrect statement(s):


https://dl.doubtnut.com/l/_clTPC6bJsGtA
https://dl.doubtnut.com/l/_ObtFbc44qqcn

A. Magnesium can be burnt in the atmosphere of

COQ and SOQ

B. Magnesium reacts with alkyl halides to form Grignard's

reagent

C.Out of Mg and Ca, only Mg reacts with N, to form

magnesium nitride

D. Calcium is less reactive than magnesium

Answer: C::D

o Watch Video Solution

59. Which of the following statement(s) is/are incorrect?


https://dl.doubtnut.com/l/_ObtFbc44qqcn
https://dl.doubtnut.com/l/_v99nupxVUycz

A. Sodium bicarbonate is more soluble than sodium

carbonate

B. Sodium hydroxide is known as caustic soda

C. Sodium bicarbonate is used as antacid

D. Sodium nitrate is used in the manufacture of soaps

Answer: B::C

o Watch Video Solution

60. Select the incorrect statement(s):

A. KOH is a weaker than NaOH

B. Milk of magnesia is an aqueous solution of Mg(OH),


https://dl.doubtnut.com/l/_v99nupxVUycz
https://dl.doubtnut.com/l/_OvqMyaLIX4ol

C.Mg*" ions are precipitated with the addition of

NH3;O0H in the presence of NH,Cl

D. CaQy is less stable than MgO,

Answer: A::C::D

° Watch Video Solution

61. Which of the following statements regarding the oxides of

alkali and alkaline earth metals is correct?

A. The reactivity of K,0 towards water is more than that

of NO,QO

B. The oxides of alkaline earth metals are more basic than

those of alkali metals


https://dl.doubtnut.com/l/_OvqMyaLIX4ol
https://dl.doubtnut.com/l/_Ru1QsZ4Cdrfu

C.MgO is used as a refractory material for lining of

electric furnaces

D.The milk of lime and lime water are two different

solutions

Answer: A::C::D

o Watch Video Solution

62. The pair of compounds which can exist together in

aqueous solution is:

A. NayCO3 and NaHCOs;

B. NaHCO3 and NaOH

C. NaOH and NaH,PO,


https://dl.doubtnut.com/l/_Ru1QsZ4Cdrfu
https://dl.doubtnut.com/l/_C7usonvi18FC

D. NaOH + NaHPOQOj;

Answer: B::C

° Watch Video Solution

63. Which of the following are soluble in water?

A. Na2003
B. Ba0204
C. MgCOg

D. CCI,(NO3)2

Answer: A::D

o Watch Video Solution



https://dl.doubtnut.com/l/_C7usonvi18FC
https://dl.doubtnut.com/l/_3rzRlG1z4iyp

64. Which of the following salts exis (s) as decahydrated

crystals?

A. Washing soda

B. Glauber's salt

C. Epson salt

D. Grypsum salt

Answer: A::B

° Watch Video Solution

65. Which of the following statements are true?

A.NaHCO3 and KHCO3 have same crystal structure


https://dl.doubtnut.com/l/_0mBepe3JDjKG
https://dl.doubtnut.com/l/_hl3DGpEILJLa

B. On heating LiNO3 decomposes into LioO and CO,

C. Among alkali metals, Li metal impart red colour flame

D. Li3 S0, does not form alum

Answer: B::D

o Watch Video Solution

66. Saturated hydrocarbon gas is evolved by carbide(s) is/are

A. CCLCQ

B. Al,C,

C. MgQC3

D. BGQC


https://dl.doubtnut.com/l/_hl3DGpEILJLa
https://dl.doubtnut.com/l/_IE2t7l925ImE

Answer: B::D

° Watch Video Solution

MATCH THE COLUMN

1. Entries of Column-l are to be matched with entrices of

Column-ll. Each entry of Column-I may have the matching

with one or more than entries of Column-ll

(A) Yellow flame colour ) Ca
(B) Most reactive with water Q) Mg
(C) Gives carbide with ‘C’ (R) Na

(D) Metal nitrate —2» metal oxide + NO,  (S) Li
003 .

o Watch Video Solution



https://dl.doubtnut.com/l/_IE2t7l925ImE
https://dl.doubtnut.com/l/_PGFErfwVh53Y

2. Entries of Column-l are to be matched with entrices of

Column-ll. Each entry of Column-l may have the matching

with one or more than entries of Column-ll

(A) Product in Solvay process .+ (P) NacCl -
(B) Evolve CO, T on heating (Q) Na 0,

(C) aq. soln. umuﬂwwmumr;;, {R) NaHCO,

(D) Oxone (Na;0,) () Najco,

o Watch Video Solution

3. Entries of Column-l are to be matched with entrices of
Column-ll. Each entry of Column-l may have the matching

with one or more than entries of Column-Il

S okaman T (Be

i ety

(A) Yellow flame colour

@
(B) Most reactive with warter (Q) Mg
(C) Gives carbide with ‘C’ (R) Na

(D) Metl nitrate —2» metal oxide + NO,  (S) Li
+0y

| o Wiakd. vt daa CAlLiktam


https://dl.doubtnut.com/l/_K4l47yU6QDNs
https://dl.doubtnut.com/l/_ydtD55EzlB66

YVatilll VIVUCU JUIVLIVIE

4. Entries of Column-l are to be matched with entrices of

Column-ll. Each entry of Column-l may have the matching

with one or more than entries of Column-ll

{A) Product in Solvay process

(P) NaCl
(B) Evolve CO; T on heating (Q) Na,0,
(C) aq. soln. is neutral towards limn;;{;, {R) NaHCO,
(D) Oxone (Na;0,) ©  (8) Nayco,

° Watch Video Solution

5. Entries of Column-l are to be matched with entrices of

Column-Il. Each entry of Column-l may have the matching


https://dl.doubtnut.com/l/_ydtD55EzlB66
https://dl.doubtnut.com/l/_M9YfYuQwoMD0
https://dl.doubtnut.com/l/_rFQdWXckWGKc

with one or more than entries of Column-ll

(A) Metal sulphate —2+ metal oxide ®) Ba
+80,+0,

(B) Metal cation + K,CrO, — yellowppt.  (Q) Sr

©) Metal + NHy 2999, 1ie solution ~ (R) Na

(D) MCl; + conc. HeSO 4, ——+mhiteppt. . (S) Mg

P T L

o Watch Video Solution

6. Entries of Column-l are to be matched with entrices of
Column-ll. Each entry of Column-l may have the matching

with one or more than entries of Column-ll

i 8! dicn oo Colmmp-Baoiysas . X
(P) As a purgative
(Q) As a fertilizer
(R) As a constituent of sorrel cement
(S) As a constituent of lithopone

o Watch Video Solution

ASSERTION-REASON TYPE QUESTIONS


https://dl.doubtnut.com/l/_rFQdWXckWGKc
https://dl.doubtnut.com/l/_7FkfGVvSmcyK

1. Statement-l : Li5 SO, do not form double salt like alum.

Statement-ll : Li reacts with NHj gas to form LiNH,

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_pGbRQsnEpKST

2. Assertion: BeC'i cannot be easily hydrolysed.

Reason: Be(ll, is electron deficient compound.

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

O Watch Video Solution



https://dl.doubtnut.com/l/_CoTGu6fQxU0B

3. Assertion: K and NHL;r ions have many similarities in
their test
Reason: Radius of K " is almost equal to radius NH,"
A. If both assertion and reason are true and the reason is
the correct explanation of assertion
B. If both assertion and reason are true and the reason is
not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_pRdl8TrRpIGv
https://dl.doubtnut.com/l/_ygSCCfU5xoQx

4. Statement-l : Alums are isomorphous crystalline double

salts, which are soluble in water.

Statement-ll : The aq. Solutions of alums have acidic

character due to hydrolysis.

A. If both statement-l and statement-ll are true and the

statement-ll is the correct explanation of statement-I.

B. If both statement-l and statement-ll are true and the

statement-ll is not the correct explanation of

statement-l.

C. If statement-l is false but statement-ll is true.

D. If statement-l is true but the statement-ll is false.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ygSCCfU5xoQx

5. Assertion: Mg gets oxidised when heated in CO,

atmosphere.

Reason: Mg has a strongly affinity for oxygen.

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ygSCCfU5xoQx
https://dl.doubtnut.com/l/_wNKVKI3ObVvP

6. Statement-l : Mg®>" + ZnSO4 — MgSO, + Zn**
Statement-Il : More active metal can displace less active metal
from its salt solution.
A. If both assertion and reason are true and the reason is
the correct explanation of assertion
B. If both assertion and reason are true and the reason is
not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_2f0dddq7CCT7
https://dl.doubtnut.com/l/_Dw7SyZ64ztOG

7. Assertion: Li resembles with Mg in properties
Reason: Li ™ has almost same polarising power as Mg?™".
A.If both assertion and reason are true and the reason is
the correct explanation of assertion
B. If both assertion and reason are true and the reason is
not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Dw7SyZ64ztOG

8. Assertion: Be(OH), dissolves in excess NaOH solution.
Reason: Be(OH), is an acidic compound.
A. If both assertion and reason are true and the reason is
the correct explanation of assertion
B. If both assertion and reason are true and the reason is
not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_pJBs9D47M541

9. Assertion (A): Sulphate is estimates as BaS0O, and not as
Reason (R ): The ionic radius of Mg?>™ is less than that of
Balt
A. If both assertion and reason are true and the reason is
the correct explanation of assertion
B. If both assertion and reason are true and the reason is
not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_2Uyte9BdGtBp

10. Assertion (A): Alkaline earth metals are harder than alkali
meatals.
Reason (R ): Atomic radii of alkaline earth metas are smaller
thant the corresponding alkali metals in the same period.
A. If both assertion and reason are true and the reason is
the correct explanation of assertion
B. If both assertion and reason are true and the reason is
not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ezy37szKqsKj

11. Assertion: Magnesium does not impart characteristic

colour to the bunsen-burner flame.

Reason: lonisation energy of Mg is very high.

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_q4PdJCmtcw8S
https://dl.doubtnut.com/l/_NjKDZ58C8qD8

12. Assertion: Among hydroxides of alkali metals, LiOH is the

weakest base.

Reason: Among alkali metals, lithium has the highest

ionisation energy .

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_NjKDZ58C8qD8
https://dl.doubtnut.com/l/_KbZvgY9KvlXr

13. Assertion: Csl is sparingly soluble in water
Reason: Hydration energy Cs™ and I~ ions are higher than
lattice energy.
A. If both assertion and reason are true and the reason is
the correct explanation of assertion
B. If both assertion and reason are true and the reason is
not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_KbZvgY9KvlXr

14. Assertion : Potassium is not obtained by the electrolysis

of fused KCI.

Reason : Potassium vapourises at the melting point of KCI.

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_FyIkhxzMRvb4
https://dl.doubtnut.com/l/_NqvWdWOj5ylD

15. Assertion: M.P of BeCls is less than that of MgCl,, but
reverse is true for their thermal stability.
Reason: M.P. and thermal stability of both compounds
depend upon their lattice energy.
A. If both assertion and reason are true and the reason is
the correct explanation of assertion
B. If both assertion and reason are true and the reason is
not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_NqvWdWOj5ylD
https://dl.doubtnut.com/l/_w9ZyfpNo9Uce

16. Inspite of very high ionisation energy, lithium is the

strongest reducing agent among all the alkali metals. Explain.

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_w9ZyfpNo9Uce

17. Assertion: Li5SO4 does not form double salt like alum

Reason: Li reacts with NHj gas to form LiNH,

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_t3EUcy4NrNQd

18. Assertion: Be(C'i5 cannot be easily hydrolysed.

Reason: Be(ll, is electron deficient compound.

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

O Watch Video Solution



https://dl.doubtnut.com/l/_4LapkFaC7ALc

19. Assertion: K © and NH4Jr ions have many similarities in
their test
Reason: Radius of K " is almost equal to radius NH,"
A. If both assertion and reason are true and the reason is
the correct explanation of assertion
B. If both assertion and reason are true and the reason is
not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_OstDHIFokae9
https://dl.doubtnut.com/l/_MoAUCzt3wIxi

20. Assertion: Alums are crystalline double salts, which are

soluble in water.

Reason: The eq.solutions of alums have acidic character due

to hydrolysis

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_MoAUCzt3wIxi
https://dl.doubtnut.com/l/_B2SC2gJk1ltn

21. Assertion: Mg gets oxidised when heated in CO,

atmosphere.

Reason: Mg has a strongly affinity for oxygen.

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_B2SC2gJk1ltn

22. Assertion: Mg? "™ + ZnSO, — MgSO, + Zn*™"
Reason: More active metal can displace less active metal from
its salt solution.
A. If both assertion and reason are true and the reason is
the correct explanation of assertion
B. If both assertion and reason are true and the reason is
not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uePTUUcpZSZn
https://dl.doubtnut.com/l/_7n4Zt3150ur4

23. Assertion: Li resembles with Mg in properties
Reason: Li ™ has almost same polarising power as Mg?™".
A.If both assertion and reason are true and the reason is
the correct explanation of assertion
B. If both assertion and reason are true and the reason is
not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7n4Zt3150ur4

24. Assertion: Be(OH), dissolves in excess NaOH solution.
Reason: Be(OH), is an acidic compound.
A. If both assertion and reason are true and the reason is
the correct explanation of assertion
B. If both assertion and reason are true and the reason is
not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_WQb0J9ZcMESh

25. Assertion: SOZ_ is estimated as BaSO, but not as
MgSO,
Reason : lonic radius of Mg?™ is smaller than that of Ba®™"
A. If both assertion and reason are true and the reason is
the correct explanation of assertion
B. If both assertion and reason are true and the reason is
not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_FnXnuDC5f2Sx
https://dl.doubtnut.com/l/_oreqLoN7SKc0

26. The densities of alkaline earth metals are much smaller

than those of alkali metals.

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_oreqLoN7SKc0

27. Assertion: Be and Mg do not impat characteristic colour

to the flame.

Reason: both Be and Mg have high ionization energy.

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_m7qAr03Su2jJ
https://dl.doubtnut.com/l/_oAEVyeKkej1s

28. Assertion: Among hydroxides of alkali metals, LiOH is the

weakest base.

Reason: Among alkali metals, lithium has the highest

ionisation energy .

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_oAEVyeKkej1s
https://dl.doubtnut.com/l/_tHZsUOtuBRgf

29, Assertion: BaSQy is insoluble in water.

Reason: Lattice energy of BaSQOy is higher than its hydration

energy

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_tHZsUOtuBRgf

30. Assertion: Csl is sparingly soluble in water
Reason: Hydration energy Cs™ and I~ ions are higher than
lattice energy.
A. If both assertion and reason are true and the reason is
the correct explanation of assertion
B. If both assertion and reason are true and the reason is
not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ONQ5P7HaA3ls
https://dl.doubtnut.com/l/_yiI6Kzjx52jD

31. Assertion : Potassium is not obtained by the electrolysis of

fused KCI.

Reason : Potassium vapourises at the melting point of KCI.

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_yiI6Kzjx52jD

32. Assertion: M.P of BeCl, is less than that of MgCl,, but
reverse is true for their thermal stability.
Reason: M.P. and thermal stability of both compounds
depend upon their lattice energy.
A. If both assertion and reason are true and the reason is
the correct explanation of assertion
B. If both assertion and reason are true and the reason is
not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZFj22hQVbPWo

33. Which of the following is the most important factor in

making lithium metal, the strongest reducing agent?

A. If both assertion and reason are true and the reason is

the correct explanation of assertion

B. If both assertion and reason are true and the reason is

not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution

SUBJECTIVE PROBLEMS


https://dl.doubtnut.com/l/_QO4d5nbEyMEX

Water

0°C P+Q

Na,0,

Water
28C P+RT+S

1.

Calculate sum of bond order between same bonded atoms in

Q and R compounds.

o Watch Video Solution

P+Q
Na,0,

Water
26°C P+RT+S

2.

Calculate sum of bond order between same bonded atoms in

Q and R compounds.

.
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